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PROFESSIONAL EXAMINATION BOARD
Group­1 Post Graduate Selection Test 2016

20th March 2016, 09:00 AM
Topic:­ General Knowledge 
1)

Question Stimulus :­

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/मĀঋदॕष कॎ ঋथम मोऻलॊ
मॏূ मॠআॎ कग़न थॎ ॠ?

Meera Kumar/ मॎरॊ कॏ मॊर

Sushma Swaraj/  ॏऺहमॊ Āरॊज

Uma Bharti/ उमॊ भॊरतॎ

Sarla Grewal / ऺरलॊ ঁॕशॊल

Correct Answer :­Uma Bharti/ उमॊ भॊरतॎ 

2)

Question Stimulus :­

General Knowledge

Which state is to the west of M.P.?/म. ঋ. कॕ पोĀम म७ कग़न­ऺॊ रॊĀ ऻॖ?

Goa/ गख़शॊ

Gujrat/ गॏजरॊत

Uttar Pradesh/ उĀर ঋदॕष

Maharashtra/ मऻॊरॊĀ३

Correct Answer :­Gujrat/ गॏजरॊत 

3)

Question Stimulus :­

General Knowledge
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General Knowledge

Which of the following district was not added to Madhya Pradesh in
1956?/ोनĀ म७ ऺॕ कग़न­ऺॊ ोजलॊ 1956 म७ मĀঋदॕष म७ ऺ्Āोलत नऻॎ ॠ थॊ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ ৖ॊोलयर

Nagpur/ नॊगपॏर

Correct Answer :­Nagpur/ नॊगपॏर 

4)

Question Stimulus :­

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/म. ঋ. कॎ ोशधॊन ऺभॊ कॕ ঋथम
ऺभॊपोत कग़न थॕ?

P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ

Tejlal Tembhare/तॕजलॊल टॕम् भरॕ

Gulsher Ahmad/ गॏलषॕर अऻमद

Srinivas Tiwari/ ঒ॎोनशॊऺ ोतशॊरॎ

Correct Answer :­P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ 

5)

Question Stimulus :­

General Knowledge

Which among the following is The Business capital of Madhya Pradesh?/
ोनĀ ोल्खत म७ ऺॕ मĀঋदॕष कॎ ကशऺॊोयक रॊजधॊनॎ कग़न­ऺॎ ऻॖ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ ৖ॊोलयर
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Jabalpur/ जबलपॏर

Correct Answer :­Indore/ इॠदग़र 

6)

Question Stimulus :­

General Knowledge

Which of the following is a District of Madhya Pradesh?/ ोनĀ म७ ऺॕ कग़न­ऺॊ
मĀঋदॕष कॊ एक ोजलॊ ऻॖ?

Agar Malwa/ आगर मॊलशॊ

Mhow/ मॽ

Pipariya/ ोपपौरयॊ

Budhni/ बॏधनॎ

Correct Answer :­Agar Malwa/ आगर मॊलशॊ 

7)

Question Stimulus :­

General Knowledge

State Tribal museum is situated in: /रॊĀ जनजॊतॎय  ॠऺঁऻॊलय ्Āथत ऻॖ­

Bhopal/ भख़पॊल म७

Indore/ इॠदग़र म७

Jabalpur/ जबलपॏर म७

Guna/ गॏनॊ म७

Correct Answer :­Bhopal/ भख़पॊल म७ 

8)

Question Stimulus :­

General Knowledge 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Old Vidhan sabha in Bhopal is also famous as which of the following name?/ भख़पॊल
म७ ्Āथत पॏरॊनॎ ोशधॊनऺभॊ और ोकऺ नॊम ऺॕ ोशূॊत ऻॖ?

Edward Hall/ एडशड१ ऻॗल

Minto Hall/ ोमॠटख़ ऻॗल

Indira Hall/ इॠोदरॊ ऻॗल

Gandhi Hall/ गॊॠधॎ ऻॗल

Correct Answer :­Minto Hall/ ोमॠटख़ ऻॗल 

9)

Question Stimulus :­

General Knowledge

Which of the following is present in Mandu?/ ोनĀ म७ ऺॕ मॊॠडॐ  म७ ভॊ ्Āथत ऻॖ?

Asharfi Palace/ अषरफॎ मऻल

Roopmati Palace/ ॺपमतॎ मऻल

Jahaz Palace/ जऻॊि मऻल

All of the above/ ऊपरख़ঢ ऺभॎ

Correct Answer :­All of the above/ ऊपरख़ঢ ऺभॎ 

10)

Question Stimulus :­

General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ अोऻĀॊ बॊई ोनĀ म७ ऺॕ
ोकऺ रॊजशॠष ऺॕ  ॠऺबĀ ऻ॰?

Holkar/ ऻख़Āर

Bhopal/ भख़पॊल

Scindia/ ो ॠऺोधयॊ

Tripuri/ ोআपॏरॎ
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Correct Answer :­Holkar/ ऻख़Āर 

11)

Question Stimulus :­

General Knowledge

State planning Commission office of M.P. is situated in which building?/
म.ঋ. म७ रॊĀ यख़जनॊ आयख़ग कॊ कॊयॊ१लय ोकऺ भशन म७ ्Āथत ऻॖ?

Rajbhawan/ रॊजभशन

Pustak Building/ पॏĀक भशन

Vallabh Bhawan/ शĀभ भशन

Vindhyachal Bhawan/ ोशॠĀॊचल भशन

Correct Answer :­Vindhyachal Bhawan/ ोशॠĀॊचल भशन 

12)

Question Stimulus :­

General Knowledge

Jabalpur is famous as the _________capital of Madhya Pradesh?/ जबलपॏर
मĀঋदॕष कॎ_______  रॊजधॊनॎ कॕ ॺप म७ ঋोऺĀ ऻॖ।

Business/ ကॊपॊर

Music/  ॠऺगॎत

Tourism/ पय१टन

None/ कख़ई नऻॎ ॠ

Correct Answer :­None/ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

General Knowledge 

Which of the following city is famous as Holy city of Buddhist?/ोनĀ म७ ऺॕ कग़न­ऺॊ षऻर
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बग़Ā धम१ कॕ एक पोशআ षऻर कॕ ॺप म७ ोशূॊत ऻॖ?

Sanchi/ ऺॊँचॎ

Khajuraho/ खजॏरॊऻख़

Vidisha/ ोशोदषॊ

Sagar/ ऺॊगर

Correct Answer :­Sanchi/ ऺॊँचॎ 

14)

Question Stimulus :­

General Knowledge 

Ami Kamni is associated with which sports?/ अमॎ कॊमनॎ ोकऺ खॕल ऺॕ  ॠऺबĀ ऻॖ?

Softball/ ऺॗĀबॗल

Snooker/ Āॐकर

Wushu/शॐषॐ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Snooker/ Āॐकर 

15)

Question Stimulus :­

General Knowledge

Tawa Canal is present in which of following district?/ तशॊ नऻर ोनĀ म७ ऺॕ ोकऺ
ोजलॕ म७ ्Āथत ऻॖ?

Hoshangabad/ ऻख़षॠगॊबॊद

Bhopal/ भख़पॊल

Guna/ गॏनॊ

Datia/ दोतयॊ
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Correct Answer :­Hoshangabad/ ऻख़षॠगॊबॊद 

Topic:­ General Hindi
1)

Question Stimulus :­

‘अद्भॏ त’ रऺ कॕ ऺ् थॊयॎ भॊश कॊ नॊम क् यॊ ऻॖ?

ोशऺ् मय

रोत

उत् ऺ ॊऻ

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ोशऺ् मय 

2)

Question Stimulus :­

Hindi

एक ऺॕ अोधक उपऺगॳ ऺॕ बनॊ षब् द ऻॖ­

अनॊऻॊर

आऻॊर

ঋॊचॊय१

ঋऻॊर

Correct Answer :­अनॊऻॊर 

3)

Question Stimulus :­

Hindi

तĀश षĀ कॊ चयन कॎोजए।

षकॏ न

शॊĀ
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ကथॊ

बॖल

Correct Answer :­बॖल 

4)

Question Stimulus :­

Hindi

ोनĀ म७ ऺॕ ोकऺ षĀ कॎ रचनॊ ঋĀय ऺॕ ॽई ऻॖ?

ঋोतकॐ ल

ঋॊचॊय१

क॑पॊलॐ

उĀम

Correct Answer :­क॑पॊलॐ 

5)

Question Stimulus :­

Hindi

ोऻĀॎ शण१मॊलॊ म७ ကॠजनख़ ॠ कॎ  ॠऺূॊ ोकतनॎ ऻॖ?

32

34

33

36

Correct Answer :­33 

6)

Question Stimulus :­

Hindi
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ोनĀ ोशकĀख़ॠ म७ ोकऺॎ एक कॎ शत१नॎ षॏĀ ऻॖ, चयन कॎोजए।

मॏॽ१त

मॏॾत१

मॾत१

मॏॽत१

Correct Answer :­मॏॾत१ 

7)

Question Stimulus :­

Hindi

ोनĀ ोशकĀख़ॠ म७ ऺॕ षॏĀ शॊভ कॊ चयन कॎोजए?

एक फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ।

फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ एक।

फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए।

फॐ लख़ ॠ कॎ मॊलॊ एक लॕ आईऐ।

Correct Answer :­फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए। 

8)

Question Stimulus :­

Hindi

ोनम् नोल्खत शॊভख़ॠ म७ ऺॕ  ॠऺदॕऻ शॊचक शॊक् य कॊ चयन कॎोजए।

परख़पकॊर ऻॎ मॊनशतॊ ऻॖ।

अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ।

मॕरॎ बॊत मॊनख़ और ोदल लगॊ कर पुख़।

ऺ् शॊथ५ श् य्ঢ कख़ ोमञ नऻॎ बनॊनॊ चॊोऻए।

Correct Answer :­अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ। 
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9)

Question Stimulus :­

Hindi

ोनĀोल्खत शॊভ म७ रॕखॊॠोकत षĀ कॕ ोशलख़म षĀ कॊ चयन कर ौरঢ Āथॊन भौरए।

ऻम७ ऺॊ्ကक भख़जन करनॊ चॊोऻए, ______ भख़जन षरॎर कॕ ोलए ऻॊोनकॊरक ऻॖ।

ॠऺतॏोलत

तॊमोऺक

अ ॠऺतॏोलत

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­तॊमोऺक 

10)

Question Stimulus :­

Hindi

ोनĀ ঋĀ कॕ षĀ­ यॏ৒ कॕ ोशकĀख़ॠ म७ ऺॕ ऺऻॎ अथ१­भॕद कॊ चयन कॎोजए।

तरणॎ­तरोण

तरणॎ­मग़कॊ

मग़कॊ­नग़कॊ

ॐऺय१­नग़कॊ

नग़कॊ­ ॐऺय१

Correct Answer :­नग़कॊ­ ॐऺय१ 

11)

Question Stimulus :­

Hindi

“ोजऺकॎ लॊठॎ उऺकॎ भ॰ऺ” म७ ________ऺश१नॊम ऻॖ।
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पॏॺह शॊचक

ोनज शॊचक

ऺĀॠध शॊचक

ोनĀय शॊचक

Correct Answer :­ऺĀॠध शॊचक 

12)

Question Stimulus :­

Hindi

‘अथॳपॊज१न’ ोकऺ  ॠऺोध कॊ उदॊऻरण ऻॖ?

दॎघ१ Āर

गॏण Āर

यण Āर

अयॊोद Āर

Correct Answer :­गॏण Āर 

13)

Question Stimulus :­

Hindi

‘ोनम् नोल्खत षब् दख़ ॠ म७ कग़न­ऺॊ बॽ঍ॎोऻ’ ऺमॊऺ कॊ उदॊऻरण नऻॎ ॠ ऻॖ?

ोআलख़चन

ोशहधर

गजॊनन

ोআभॏशन

Correct Answer :­ोআभॏशन 

14)
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Question Stimulus :­

Hindi

“चरण कमल ऺम कख़मल” म७ चरण षब् द ऻॖ­

उपमॊन

उपमॕय

ऺॊधॊरण षब् द

शॊचक षब् द

Correct Answer :­उपमॕय 

15)

Question Stimulus :­

Hindi

ोनĀ म७ ऺॕ ोकऺ ऺमॐऻ म७ ऺभॎ षĀ ‘ऺमॏঈ’ कॕ पयॊ१यशॊचॎ ऻ॰?

जलोध, ऺॊगर, ऺर, तरॠगॊ

अॠबॏोध, ोऺĀॏ, उदोध, मऻॊण१श

उदोध, तीॊग, तरॠग, ऺर

ऺॊगर, ोऺĀॏ, ऺॕतॏ, तरोन

Correct Answer :­अॠबॏोध, ोऺĀॏ, उदोध, मऻॊण१श 

Topic:­ General English
1)

Question Stimulus :­

English

Choose the option which can be substituted for the given sentence.

One who is unable to pay his debts.

Wealthy.

Successful.
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Bankrupt.

Solvent.

Correct Answer :­Bankrupt. 

2)

Question Stimulus :­

English

Out of the given options choose the one with the correct spelling.

Judgement.

Judgment.

Judgemant.

Judgament.

Correct Answer :­Judgement. 

3)

Question Stimulus :­

English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

(a)

(b)

(c)

(d)

Correct Answer :­(b) 

4)
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Question Stimulus :­

English

Arrange the following sentences to form a logically coherent paragraph.

A. linked with lack of self­confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.

CBAD.

CABD.

BCDA.

DACB.

Correct Answer :­CABD. 

5)

Question Stimulus :­

English

Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.

show

shows

showing

shown

Correct Answer :­shown 

6)

Question Stimulus :­

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _____ she went shopping with her friends.

and

so

yet

therefore

Correct Answer :­yet 

7)

Question Stimulus :­

English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please _______ their hands?

rays

raise

raze

race

Correct Answer :­raise 

8)

Question Stimulus :­

English

Complete the following sentence by choosing the correct preposition.

All the boys quarreled _________themselves.

among

between
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across

besides

Correct Answer :­among 

9)

Question Stimulus :­

English

Complete the following sentence by choosing the correct article.

I saw _______ one­eyed man yesterday.

the

an

a

No article required

Correct Answer :­a 

10)

Question Stimulus :­

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me________ books.

less

little

few

a few

Correct Answer :­a few 

11)
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Question Stimulus :­

English

Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she ______.

broke up

broke into

broke down

broke off

Correct Answer :­broke down 

12)

Question Stimulus :­

English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.

favorable

unfavorable

climatic

pleasant

Correct Answer :­unfavorable 

13)

Question Stimulus :­

English

Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

productive
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unproductive

popular

famous

Correct Answer :­unproductive 

14)

Question Stimulus :­

English

Complete the following sentence by choosing the correct modal.

She works hard so that she _____ pass.

might

may

should

shall

Correct Answer :­may 

15)

Question Stimulus :­

English

Complete the following sentence by choosing the correct order of
pronouns.

________ will watch movie tonight.

You, Sonal and I

Sonal, You and I

I , You and Sonal

I , sonal and you

Correct Answer :­You, Sonal and I 
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Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Computer

Drum Pen is a type of­/ड३ म पॕन एक ঋकॊर कॊ ______ ऻॖ।

Printer/ ोঋॠटर

Plotter/ ကॗटर

Scanner/ Āॖनर

Keyboard/ कॎ­बख़ड१

Correct Answer :­Plotter/ ကॗटर 

2)

Question Stimulus :­

Computer

The process of verification for ‘Log­in­name’ and ‘Password’ is­/ लॗग­इन­नॕम तथॊ ‘पॊऺशड१’ कॕ
ऺĀॊपन कॎ ঋोॿयॊ ऻॖ­

Logging in/ लॗोगॠग इन

Certification/ ऺोट१ोफकॕषन

Authentication/ ऑथ७ोटकॕषन

Configuration/ कॗ्Āूगरॕषन

Correct Answer :­Authentication/ ऑथ७ोटकॕषन 

3)

Question Stimulus :­

Computer

Powerpoint is a­/पॊशरपॗइॠट ऻॖ एक­

Word Processor/ शड१ ঋख़ऺॕऺर
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Spreadsheet Program/ Āॖडषॎट ঋख़ঁॊम

Presentation Package/ ঋॕज७टॕषन पॖकॕज

Database Management Package/ डॕटॊबॕऺ मॖनॕजम७ट पॖकॕज

Correct Answer :­Presentation Package/ ঋॕज७टॕषन पॖकॕज 

4)

Question Stimulus :­

Computer

Which of the following is the physical path over which a message travels?/
ोनĀ म७ ऺॕ कग़न ऺॊ भग़ोतक पथ ऻॖ, ोजऺऺॕ  ॠऺदॕष  ॠऺचॊौरत (गोत) ऻख़तॊ ऻॖ?

Protocol/ ঋख़टख़कॗल

Signal/ ोऺ্ल

Medium/ मॎोडयम

Pathway/ पॊथ­शॕ

Correct Answer :­Medium/ मॎोडयम 

5)

Question Stimulus :­

Computer

Which of the following refers to the physical arrangement of a network?/ ोनĀ म७ ऺॕ कग़न­ऺॊ
नॕटशक१  कॎ भग़ोतक ကशĀथॊ कख़ दषॊ१तॊ ऻॖ?

Data flow/ डॕटॊ Āख़

Mode of operation/ मख़ड ऑफ ऑपरॕषन

Topology/ टख़पख़लॗजॎ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Topology/ टख़पख़लॗजॎ 

6)
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Question Stimulus :­

Computer 

Protocol suite for the Current Internet is­/ शत१मॊन इॠटरनॕट कॕ ोलए ঋख़टख़कॗल  ॐऺट ऻॖ­

TCP/IP/ टॎऺॎपॎ/आईपॎ

NCP/ एनऺॎपॎ

UNIX/ यॐोनস

ACM/ एऺॎएम

Correct Answer :­TCP/IP/ टॎऺॎपॎ/आईपॎ 

7)

Question Stimulus :­

Computer

______ layer is responsible for ‘process to process’ delivery?/ _____ लॕयर
‘ঋख़ऺॕऺ टॐ  ঋख़ऺॕऺ’ ोडोलशरॎ कॕ ोलए ोजĀॕदॊर ऻख़तॎ ऻॖ?

Data link layer/ डॕटॊ ोलॠक लॕयर

Session layer/ ऺॕषन लॕयर

Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर

Network layer/ नॕटशक१  लॕयर

Correct Answer :­Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर 

8)

Question Stimulus :­

Computer

Logical design of database is known as­/ डॕटॊबॕऺ कॕ लॗोजकल ोडिॊइन कख़ कऻतॕ ऻ॰­

Database schema/ डॕटॊबॕऺ ॺपरॕखॊ

Database Instance/ डॕटॊबॕऺ इॠĀ७ऺ

Database snapshot/ डॕटॊ Āॖपषॗट
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Database design/ डॕटॊबॕऺ ोडिॊइन

Correct Answer :­Database schema/ डॕटॊबॕऺ ॺपरॕखॊ 

9)

Question Stimulus :­

Computer

Which of the following can be taken as a primary key?/ ोनĀ म७ ऺॕ कग़न­ऺॊ
ঋॊथोमक कॏॠ जॎ कॕ ॺप म७ ोलयॊ जॊ ऺकतॊ ऻॖ?

Name/नॊम

Id/आईडॎ

Street/ऺीक

Department/ोडपॊट१म७ट

Correct Answer :­Id/आईडॎ 

10)

Question Stimulus :­

Computer 

SDL stands for­/ एऺडॎएल कॊ पॐण१ ॺप ऻॖ­

Storage discrete localisation/ Āख़रॕज ोड्Āट लख़कॕलॊइजॕषन

Storage definition localisation/ Āख़रॕज डॕोफनॕषन लख़कॕलॊइजॕषन

Storage definition language/ Āख़रॕज डॕोफनॕषन ल॰৖ॕज

Storage discrete language/ Āख़रॕज ोड्Āट ल॰৖ॕज

Correct Answer :­Storage definition language/ Āख़रॕज डॕोफनॕषन ल॰৖ॕज 

Topic:­ General Science
1)

Question Stimulus :­

General Science
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What is PH value of human blood?/ मॊनश रঢ कॊ PH मॊन ोकतनॊ ऻख़तॊ ऻॖ?

7

7.2

7.4

7.8

Correct Answer :­

7.4 

2)

Question Stimulus :­

General Science

In a human body, the basic building block are­/ मॊनश षरॎर म७ मॏূ  ॠऺरचनॊĀक इकॊई ऻॖ­

Muscles/ Āॊयॏ

Nerves/ न ७ऺ

Cells/ कख़ोषकॊय७

Bones/ ऻोĀयॊँ

Correct Answer :­Cells/ कख़ोषकॊय७ 

3)

Question Stimulus :­

General Science

Approximately how much time does a Sun ray take reaching Earth?/  ॐऺय१ ऺॕ प॑Āॎ तक ঋकॊष
पॽँचनॕ म७ ोकतनॊ ऺमय लगभग लगतॊ ऻॖ?

400 seconds/ 400 ऺॕकॠ ड

500 seconds/ 500 ऺॕकॠ ड

600 seconds/ 600 ऺॕकॠ ड

700 Seconds/ 700 ऺॕकॠ ड
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Correct Answer :­500 seconds/ 500 ऺॕकॠ ड 

4)

Question Stimulus :­

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/
ोनĀ म७ ऺॕ कग़न ऺॊ पदॊथ१ अॠतौर঴ म७ उप्Āथत नऻॎ ॠ ऻॖ, परĀॏ प॑Āॎ पर ঋचॏर मॊআॊ म७ ऻॖ?

CO 2

O2

CH4

He

Correct Answer :­O2 

5)

Question Stimulus :­

General Science

Which of the following Kingdom represents bacteria?/ ोनĀ म७ ऺॕ कग़न­ऺॊ जगत बॖঠॎौरयॊ कॊ
ঋोतोनोधက करतॊ ऻॖ?

Monera/ मख़नॕरॊ

Protista/ ঋख़ोटĀ

Protozoa/ ঋख़टख़जख़आ

Metazoa/मॕटॊजख़आ

Correct Answer :­Monera/ मख़नॕरॊ 

6)

Question Stimulus :­

General Science

Which among the following laws of Physics explain about the elliptical orbits of
planetary bodies?/ ोनĀ म७ ऺॕ कग़न­ऺॊ भग़ोतक ोनयम ঁऻ­ोपĀख़ॠ कॕ परशलयॊकॊर क঴ कख़ ঋदोष१त करतॊ ऻॖ?
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Newton's Law/ ကॐटन कॊ ोनयम

Kepler's Law/ कॕपलर कॊ ोनयम

Snell's law/ Āॕल कॊ ोनयम

Coulomb's law/ कॏ ल ॠॗĀ कॊ ोनयम

Correct Answer :­Kepler's Law/ कॕपलर कॊ ोनयम 

7)

Question Stimulus :­

General Science

On which of the following the weight of a person will be minimum?/ ोनĀ म७ ऺॕ कऻॊँ ोकऺॎ
က्ঢ कॊ भॊर ကॐनतम ऻख़गॊ?

Venus/ षॏॿ

Mars/ मॠगल ঁऻ

Moon/ चॠঈ्मॊ

Mercury/ पॊरॊ

Correct Answer :­Moon/ चॠঈ्मॊ 

8)

Question Stimulus :­

General Science

The "Planetoids" are located between which of the following?/ अॠतौर঴ म७ “঴ॏঈঁऻ”, ोनĀ म७ ऺॕ
ोकन कॕ बॎच उप्Āथत ऻख़तॕ ऻ॰?

Mars and Jupiter/ मॠगल और ब॑ऻĀोत

Saturn & Jupiter/ षोन और ब॑ऻĀोत

Mercury and Venus/ बॏध और षॏॿ

Earth & Mars/ प॑Āॎ और मॠगल ঁऻ

Correct Answer :­Mars and Jupiter/ मॠगल और ब॑ऻĀोत 
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9)

Question Stimulus :­

General Science

Deficiency of Tocopherol leads to sterility in males and females. The popular word for
Tocopherol is _____?/ टख़कख़ोफरॊल कॎ कमॎ नर श मॊदॊ म७ नपॏॠऺकतॊ उĀĀ कर ऺकतॎ ऻॖ। टख़कख़ोफरॊल कख़
ऺॊमॊကतॡ जॊनॊ जॊतॊ ऻॖ।

Vitamin B3/ ोशटॊोमन बॎ3

Vitamin K/ ोशटॊोमन कॕ

Vitamin E/ ोशटॊोमन ई

Vitamin C/ ोशटॊोमन ऺॎ

Correct Answer :­Vitamin E/ ोशटॊोमन ई 

10)

Question Stimulus :­

General Science

Water at 3.98o C has______./ जल 3.98o C कॊ पर _____ ऻख़तॊ ऻॖ।

minimum density/ ကॐनतम घनက

maximum density/ ऺशॊ१ोधक घनက

maximum weight/ ऺशॊ१ोधक भॊर

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­maximum density/ ऺशॊ१ोधक घनက 

11)

Question Stimulus :­

General Science

Which among the following is edible?/ ोनĀ म७ ऺॕ कग़न­ऺॊ खॊनॕ यख़৓ ऻॖ?

Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट

Sodium Carbonate/ ऺख़ोडयम कॊबॳनॕट
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Sodium Dioxide/ ऺख़ोडयम डॊइऑসॊइड

Sodium Hydroxide/ ऺख़ोडयम ऻॊइड३ ॗসॊइड

Correct Answer :­Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊबॳनॕट 

12)

Question Stimulus :­

General Science

What does contain "Red Data Book”? / ” रॕड डॕटॊ बॏक” म७ ভॊ ऻख़तॊ ऻॖ?

Astrology/ खगख़ल षॊĀ

Endangered wild plants, animals/ लॏĀ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ

Communism/ ऺमॊजशॊदॎ

Endangered Forests/ लॏĀঋॊय जॠगल

Correct Answer :­Endangered wild plants, animals/ लॏĀ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ 

13)

Question Stimulus :­

General Science

In context with Science and Technology development of China, what is Tianhe­I?/ ोशĀॊन श
ঋग़Āख़ोगक कॕ ोशकॊऺ म७ चॎन कॊ ोतयॊनॕ­I ভॊ ऻॖ?

A satellite/ एक उपঁऻ

A space station/ एक अॠतौर঴ Āॕषन

A super computer/ एक  ॏऺपर कĀĀॐटर

A proposed GPS/ एक ঋĀॊोशत जॎपॎएऺ

Correct Answer :­A super computer/ एक  ॏऺपर कĀĀॐटर 

14)

Question Stimulus :­

General Science
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Which among the following can be measured with Anemometer?/ एनॎमख़मॎटर ऺॕ ोनĀ म७ ऺॕ ভॊ
मॊपॊ जॊतॊ ऻॖ?

Water Velocity/ पॊनॎ कॊ शॕग

Wind Velocity/ पशन कॊ शॕग

Relative Humidity/ ऺॊपॕ঴ आঈ१तॊ

Absolute Humidity/ ोनरपॕ঴ आঈ१तॊ

Correct Answer :­Wind Velocity/ पशन कॊ शॕग 

15)

Question Stimulus :­

General Science

Which is the most abundant metal in the Earth's crust?/ प॑Āॎ कॎ ऺतऻ पर कग़न­
ऺॎ धॊतॏ ऺशॊ१ोधक पॊयॎ  जॊतॎ ऻॖ?

Silicon/ ोऺोलकन

Iron/ लख़ऻॊ

Aluminium/ एĀॏोमोनयम

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Aluminium/ एĀॏोमोनयम 

Topic:­ General Reasoning
1)

Question Stimulus :­

Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./नॎचॕ ोदए गए ঋĀ म७ ोचĀ (::) कॕ बॊॠई ओर दख़
पद ोदए गए ऻ॰। ोजनम७ आपऺ म७ एक ঋकॊर ऺॕ कख़ई ऺĀĀ ऻॖ, ठॎक इऺॎ ঋकॊर कॊ ऺĀĀ ोचĀ (::) कॕ दॊॠई और ोदए
गए पद तथॊ उऺकॕ नॎचॕ ोदए गए ोशकĀख़ॠ म७ ऺॕ ोकऺॎ एक पद कॕ बॎच म७ भॎ ऻॖ। शऻॎ ोशकĀ कॊ पद उĀर ऻॖ। ऺऻॎ ोशकĀ
कॊ चयन कर७।

Manipur : Imphal : : Rajasthan : ?/ मोणपॏर : इॠफॊल : : रॊजĀथॊन : ?
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Udaipur/ उदयपॏर

Ajmer/ अजमॕर

Jaipur/ जयपॏर

India/ भॊरत

Correct Answer :­Jaipur/ जयपॏर 

2)

Question Stimulus :­

Logical Reasoning

Pointing towards a boy, Sonam said, “He is the son of the only sister of my father”. How
is the boy related to sonam?/ एक लीकॕ कॎ और इषॊरॊ करतॕ ॽए ऺख़नम नॕ कऻॊ, “शऻ मॕरॕ ोपतॊ कॎ इकलग़तॎ
बऻन कॊ बॕटॊ ऻॖ”। लीकॊ, ऺख़नम ऺॕ ोकऺ ঋकॊर  ॠऺबॠोधत ऻॖ?

Nephew/ भतॎजॊ

Son/ पॏআ

Brother/ भॊई

Cousin/ कोिन

Correct Answer :­Cousin/ कोिन 

3)

Question Stimulus :­

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 ोमनट म७ घॠटॕ कॎ  ॏऺई
ोकतनॊ कख़ण बनॊएगॎ?

20o

10o

25o

75o
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Correct Answer :­10o 

4)

Question Stimulus :­

Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ योद बॎतॕ ॽए कल कॕ पऻलॊ शॊलॊ
ोदन ऺख़मशॊर थॊ, तख़ षोनशॊर कब ऻख़गॊ?

Tomorrow/ आनॕ शॊलॊ कल

Day after tomorrow/ आनॕ शॊलॕ कल कॕ बॊद शॊलॊ ोदन

Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद 

5)

Question Stimulus :­

Logical Reasoning  

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ पॊॹल अपनॕ घर ऺॕ
Āॐ ल जॊतॎ ऻॖ जख़ 10 ोकमॎ उĀर कॎ ओर ऻॖ। ोफर शऻ शऻॊँ ऺॕ दॊएॠ  मॏीतॎ ऻॖ और 15 ोकमॎ. जॊतॎ ऻॖ। इऺकॕ बॊद शऻ दॊएॠ
मॏीकर 5 ोकमॎ जॊतॎ ऻॖ और ोफर दॊएॠ  मॏीकर 15 ोकमॎ जॊतॎ ऻॖ। अब शऻ अपनॕ ঋॊरॠ ोभक ोबॠदॏ ऺॕ ोकतनॎ दॐ र ऻॖ?

10 kms

25 kms

15 kms

5 kms

Correct Answer :­5 kms 

6)

Question Stimulus :­

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.
Which one does not belong to that group?/ ोनĀ ोशकĀख़ॠ म७ ऺॕ तॎन एक ोनोĀत तरॎकॕ ऺॕ ऺमॊन ऻ॰ और
इऺोलए एक ऺमॐऻ बनॊतॕ ऻ॰। कग़न­ऺॊ एक, इऺ ऺमॐऻ ऺॕ ऺĀ्Āत नऻॎ ॠ ऻॖ?

Black : 25

Orange : 36

Blue : 12

Magenta : 49

Correct Answer :­Blue : 12 

7)

Question Stimulus :­

Logical Reasoning  

In  the  given  arrangement, which  is  the  4th  letter/digit/symbol  to  the  right  of  the  14th
letter/digit/symbol from right end?/ दॎ गई ကशĀथॊ म७, दॊएँ छख़र ऺॕ 14श७ अ঴र/अॠक/ोचĀ कॕ दॊएँ ऺॕ 4थॊ
अ঴र/अॠक/ोचĀ कग़न ऺॊ ऻॖ?

4 7 I ? J 2 T @ # S 5 P Q % U & X C

#

S

7

@

Correct Answer :­# 

8)

Question Stimulus :­

Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ ोकऺॎ
कॐ ट भॊहॊ म७, SHEEPS कख़ TGFDQR ोलखतॕ ऻ॰ , MOULDS  कख़ NNVKER ोलखतॕ ऻ॰, इऺ कॐ ट
म७ ORANGE कख़ कॖऺॕ ोलख७गॕ?

PQBMHD
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PSBOHF

PTDRML

QTCPIG

Correct Answer :­PQBMHD 

9)

Question Stimulus :­

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
mirror is held at PQ?/ कग़न ऺॎ उĀर आक॑ोत पॐण१ ॺप ऺॕ दॎ गयॎ आक॑ोत कॊ दप१ण ঋोतोबĀ ऻॖ। जब दप१ण PQ
पर रखॊ गयॊ ऻॖ?

Question figure/ ঋĀ आक॑ोत

Answer figure/ उĀर आक॑ोत

(a)

(b)

(c)

(d)

Correct Answer :­(a) 

10)

Question Stimulus :­

Logical Reasoning
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What  will  come  in  place  of  the  question  mark  (?)  in  the  following  number  series?  /
ोनĀोल्खत  ॠऺূॊ ঋणॊलॎ म७ ঋĀशॊचक ोचĀ (?) कॕ Āथॊन पर ভॊ आयॕगॊ?

1, 2, 5, 10, ?, 26, 37

15

12

17

24

Correct Answer :­17 

11)

Question Stimulus :­

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter­changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ योद षĀ PREPARATIONS म७ पऻलॕ और दॐ ऺरॕ अ঴र कख़ आपऺ म७ बदल ोलयॊ जॊए और इऺॎ तरऻ
तॎऺरॕ और चग़थॕ अ঴र कख़, पॊॠचशॕ और छटश७ अ঴र कख़ और इऺॎ तरऻ ऺॕ आगॕ, तख़ बॊएॠ  छख़र ऺॕ 9शॊँ अ঴र कग़न ऺॊ ऻख़गॊ ?

O

I

A

T

Correct Answer :­O 

12)

Question Stimulus :­

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 2?/ एक पॊॠऺॕ कॎ तॎन
्Āथोतयॊँ दॎ गयॎ ऻ॰। 2 कॕ ोशपरॎत कग़न ऺॊ अॠक ऻख़गॊ?
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1

5

6

4

Correct Answer :­5 

13)

Question Stimulus :­

Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ ऺॊत बৡॕ A, B, C, D,
E, F, G एक पॠ्ঢ म७ ऊपर ऺॕ नॎचॕ  खीॕ ॽए ऻ॰। E पॊॠचशॕ Āथॊन पर ऻॖ। कॕशल C, A और B कॕ बॎच म७
ऻॖ। G ऺबऺॕ नॎचॕ ऻॖ। B, F कॕ तॎन Āथॊन पॎछॕ ऻॖ। ऊपर ऺॕ D कॊ Āथॊन ভॊ ऻख़गॊ?

Fourth/ चग़थॊ

Sixth/ छटशॊँ

Second/ दॐ ऺरॊ

Last/ अॠोतम

Correct Answer :­Sixth/ छटशॊँ 

14)

Question Stimulus :­

Logical Reasoning

DIRECTIONS/ोनद८ष: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the given statements./
नॎचॕ ोदयॕ गए ঋĀ म७ दख़ कथन और उऺकॕ नॎचॕ दख़ ोनĀह१ I और II ोदए गए ऻ॰। आपकख़ ोदए गए कथनख़ ॠ कख़ ऺĀ मॊननॊ
ऻॖ। भलॕ ऻॎ शॕ ऺश१Āॊत तĀख़ॠ ऺॕ ोभĀत ঋतॎत ऻख़। दख़नख़ ॠ ोनĀहॵ कख़ पोुए और ोफर तय कॎोजए ोक कग़न ऺॊ ोनĀह१ ोदए
गए कथनख़ ॠ कॊ तक१   ॠऺगत ॺप ऺॕ अनॏऺरण करतॊ ऻॖ।

 

Statements/कथन:
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All roses are flowers./ ऺभॎ गॏलॊब फॐ ल ऻ॰।

All flowers are trees./ ऺभॎ फॐ ल पॕी ऻ॰।

Conclusions/ोनĀह१:

I. All trees are roses./ ऺभॎ पॕी गॏलॊब ऻ॰।

II. Some flowers are roses./ कॏ छ फॐ ल गॏलॊब ऻ॰।

If only Conclusion I follows/ योद कॕशल ोनĀह१ I अनॏऺरण करतॊ ऻॖ

If only Conclusion II follows/ योद कॕशल ोनĀह१ II अनॏऺरण करतॊ ऻॖ

If either Conclusion I or II follows/ योद यॊ तख़ ोनĀह१ I यॊ II अनॏऺरण करतॊ ऻॖ

If both Conclusions I and II follow/ योद दख़नख़ ॠ ोनĀह१ I और II अनॏऺरण करतॕ ऻ॰

Correct Answer :­If only Conclusion II follows/ योद कॕशल ोनĀह१ II अनॏऺरण करतॊ ऻॖ 

15)

Question Stimulus :­

Logical Reasoning

Out of  the  five  figures  that  follow, you are  to  indicate which  figure will best  represent
the relationship amongst the three classes/ोनĀ दॎ गई पॊॠच आक॑ोतयख़ ॠ म७ ऺॕ उऺ आक॑ोत कख़ चॏोनयॕ, जख़
इन तॎन शगॳ कॕ बॎच ऺĀĀ कख़ दषॊ१तॊ ऻॖ।

Colours, Yellow, Blue/ रॠग, पॎलॊ, नॎलॊ

(I)

(II)

(III)

(V)
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Correct Answer :­(III) 

Topic:­ General Maths
1)

Question Stimulus :­

Maths

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/
एक परॎ঴ॊ म७ एक छॊআ ঋत् यॕक ऺऻॎ उत् तर कॕ ोलए 1 अॠक ঋॊप् त करतॊ ऻॖ और ঋत् यॕक गलत उत् तर कॕ
ोलए 1/4 अॠक कम ोकयॕ जॊतॕ ऻ॰। योद उऺनॕ कॏ ल 70 ঋष् न ऻल ोकए और 40 अॠक ঋॊप् त ोकयॕ, तख़
उऺनॕ ोकतनॕ ঋष् न ऺऻॎ ऻल ोकयॕ?

42

46

52

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­46 

2)

Question Stimulus :­

Maths

Arrange the fractions  ,  ,  ,   in ascending order./ोभĀख़ ॠ  ,  ,  ,    कख़ आरख़ऻॎ
ॿम म७ श् यश्Āथत कर७।

 <    <   < 

 <   <  < 

 <   <   < 

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  <   <   <   
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3)

Question Stimulus :­

Maths 

In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /एक जॠगल म७ जऻॊँ कॕशल ोऻरण और मनॏह् य ऻ॰। शऻॊँ
80 ोऺर और 230 पॖर ऻ॰। शऻॊँ ोकतनॕ मनॏह् य ऻ॰?

40

25

35

45

Correct Answer :­45 

4)

Question Stimulus :­

Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee
he must sell to gain 40%?/ एक श् यॊपॊरॎ 1 ॹपयॕ म७ 7 टॗफॎयॊँ खरॎदतॊ ऻॖ। शऻ 1 ॹपयॕ म७
ोकतनॎ टॗफॎयॊँ बॕचॕ तॊोक  40% कॊ लॊभ ऻख़?

3

4

5

6

Correct Answer :­5 

5)

Question Stimulus :­

Maths 

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ एक फल ोशॿॕतॊ कॕ पॊऺ कॏ छ कॕलॕ
थॕ। उऺनॕ 20% कॕलॕ बॕच ोदए और ोफर भॎ उऺकॕ पॊऺ 128 कॕलॕ बचॕ ॽए ऻ॰। उऺकॕ पॊऺ षॏॹआत म७ ोकतनॕ
कॕलॕ थॕ?

156

160

176

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­160 

6)

Question Stimulus :­

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ ोकतनॕ ঋोतषत शॊोह१क चॿश्॑Ā ब् यॊज कॎ दर ऺॕ ॹ.1200,
2 शह१ म७ ॹ.1323 ऻख़ जॊएँगॕ?

6%

4%

5%

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­5% 

7)

Question Stimulus :­

Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees)./रॊजॕष और ऺॊ঴ॎ एक ကशऺॊय म७
ऺॊझॕदॊर ऻ॰। रॊजॕष 8 मऻॎनॕ कॕ ोलए ॹ.35000 ोनशॕष करतॊ ऻॖ और ऺॊ঴ॎ 10 मऻॎनॕ कॕ ोलए
ॹ.42,000 ोनशॕष करतॎ ऻॖ। कॏ ल लॊभ ॹ.31,570 म७ रॊजॕष कॊ ोऻऺ् ऺ ॊ (ॹपयॕ म७) ऻॖ:­

12,628
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14,060

16,162

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­12,628 

8)

Question Stimulus :­

Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/एक लीकॊ 15 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 10 ोकमॎ ऺॊइकल ऺॕ जॊतॊ ऻॖ
और पॏन: 10 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 15 ोकमॎ जॊतॊ ऻॖ। पॐरॎ यॊআॊ कॕ ोलए उऺकॎ औऺत गोत (ोकमॎ/घॠटॕ म७)
ऻॖ:­

13

7

7

11

Correct Answer :­11  

9)

Question Stimulus :­

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken by Pavan alone to finish the
work is:/पशन कॎ कॊय१঴मतॊ रॊकॕष ऺॕ दख़गॏनॎ ऻॖ। योद दख़नख़ ॠ एक ऺॊथ ोकऺॎ कॊम कख़ 15 ोदन म७
कर ऺकतॕ ऻ॰ तख़ पशन कख़ अकॕलॕ कॊम ऺमॊप् त करनॕ म७ लगॕ ोदनख़ ॠ कॎ  ॠऺख् यॊ ऻॖ­

10

25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


22

27

Correct Answer :­22  

10)

Question Stimulus :­

Maths 

The average of 5 consecutive even number is 18. Find the largest
number./5 लगॊतॊर ऺम  ॠऺख् यॊओॠ कॊ औऺत 18 ऻॖ। ऺबऺॕ बीॎ  ॠऺख् यॊ Āॊत कर७ ।

20

22

24

28

Correct Answer :­22 

11)

Question Stimulus :­

Maths

The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/तॎन बऺख़ ॠ कॎ
गोत कॊ अनॏपॊत ॿमष: 2:3:4 ऻॖ। ऺमॊन दॐ रॎ तय करनॕ म७ उनकॕ ကॊरॊ लगॕ ऺमय कॊ अनॏपॊत ऻॖ:

3:4:6

4:3:2

3:6:4

6:4:3

Correct Answer :­6:4:3 

12)
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12)

Question Stimulus :­

Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/ॹ.24 ঋोत लॎटर कॕ दॐ ध कॕ ऺॊथ ोकऺ
अनॏपॊत म७ पॊनॎ ोमलॊयॊ जॊए तॊोक ोम঒ण कॊ मॐल् य ॹ.16 ঋोत लॎटर ऻख़?

1:2

1:3

2:3

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­1:2 

13)

Question Stimulus :­

Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 शह१ पॐश१ षॊलॐ कॎ
आयॏ रॕऻॊन कॎ आयॏ कॎ आधॎ थॎ। योद उनकॎ शत१मॊन आयॏ कॊ अनॏपॊत 3:4 ऻॖ तख़ षॊलॐ कॎ शत१मॊन
आयॏ (शह१ म७) क् यॊ ऻॖ?

10

15

20

25

Correct Answer :­15 

14)

Question Stimulus :­

Maths 

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 तॊष कॕ पत् तॕ कॎ गĀॎ ऺॕ ोनकॊलॕ गयॕ 1 पत् तॕ कॕ बॊदषॊऻ कॕ पत् तॕ ऻख़नॕ कॎ ঋॊोयकतॊ ऻख़गॎ:
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1/52

1/26

1/13

1/9

Correct Answer :­1/13 

15)

Question Stimulus :­

Maths

Find the total surface area (in cm2) of a cone of height 24 cm and base diameter
14 cm./24 ऺॕमॎ ऊँचॊई और 14 ऺॕमॎ आधॊर कॕ श् यॊऺ शॊलॕ एक षॠकॏ  कॊ कॏ ल प॑ह् ठ ঴ॕআफल (शग१ ऺॕमॎ म७)
Āॊत कर७ ।

704

550

812

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­704 

Topic:­ Agriculture­Plant Pathology
1)

Question Stimulus :­

Columella is a specialized sterile structure found in sporangium of­/ोनम् न म७
ऺॕ ोकऺकॎ बॎजॊणॏघॊनॎ म७ ‘ऺ् तॠोभकॊ’ कॎ  ॠऺरचनॊ ऻख़तॎ ऻॖ?  

Ulothrix/यॐलख़ोইস                                      

Yeast/ईऺ् ट 

Spirogyra/ऺ् पॊइरख़गॊयरॊ                

Rhizopus/रॊइजख़पऺ  
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Correct Answer :­Rhizopus/रॊइजख़पऺ   

2)

Question Stimulus :­

Mycelium in Rhizopus are:­/रॊइजख़पऺ कॊ कशक जॊल ____ ऻॖ

 Septate and nucleate/ोशभॊगॎय एशॠ कॕन् ঈकॎय

Aseptate & Unimucleate/अोशभॊगॎय एशॠ एककॕन् ঈॎय

Aseptate & nucleate/अोशभॊगॎय एशॠ कॕन् ঈॎय

None of the above/उपरख़ঢ म७ ऺॕ कख़ई नऻॎ

Correct Answer :­Aseptate & nucleate/अोशभॊगॎय एशॠ कॕन् ঈॎय 

3)

Question Stimulus :­

Formula of fungus chitin is:­/ फॠ गऺ कॊइोटन कॊ  ॐऺআ ऻॖ:­

 C3032 H4816 O872 N780 S8 Fe4

(C22 H54 N4 O21)n

C55H705N4Mg

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ

Correct Answer :­(C22 H54 N4 O21)n 

4)

Question Stimulus :­

When hyphae of a mycelium grow together and intertwine with one
another forming a thick woven tissue, it is called as:­ /जब कशकबॊल म७ कशकतॠतॏ
एक ऺॊथ बुतॕ ऻ॰ और एक दॐ ऺरॕ ऺॕ बॠध जॊतॕ ऻ॰ तथॊ एक मख़टॎ ऊतकॎय  ॠऺरचनॊ बनॊ लॕतॕ ऻ॰, शऻ
कऻलॊतॕ ऻ॰? 

Plecten chyma/प् लॕ्ঠन कॊइमॊ        

Sclerotia/ऺ् कलग़रॕोषयॊ 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Sclerotia/ऺ् कलग़रॕोषयॊ 

Rhizomorph/ रॊइजख़ मॊफ१               

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Plecten chyma/प् लॕ्ঠन कॊइमॊ         

5)

Question Stimulus :­

Which of the following is edible fungi?/ोनम् न म७ ऺॕ कग़न­ऺॊ खॊनॕ यख़৓ कशक ऻॖ?   

Morchella/मख़रकॕलॊ                  

Agaricus/एगॖौरकऺ

Lycoperdon/लॊइकख़परडन               

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­All of the above/उपरख़क् त ऺभॎ 

6)

Question Stimulus :­

When two mycelium of opposite strains (+) & (­)  come near one another,
the mycelia produce small outgrowths called as:?/ जब दख़ ोशपरॎत ঋभॕद कॕ
(+) एशॠ (­)   , कशकजॊल एक दॐ ऺरॕ कॕ पॊऺ आतॕ ऻ॰, और बॊऻरॎ श॑ोदध करतॕ ऻ॰, कऻलॊतॊ ऻॖ?  

Progametangia/ঋॊভॏग् मक                           

Sclerotia/Āমॕरख़ोषयॊ  

Ascus/एऺ् कऺ                                     

Metulae/ मॕतॏलॕ

Correct Answer :­Progametangia/ঋॊভॏग् मक                            

7)

Question Stimulus :­

Which of the following is homothallic?/ोनम् न म७ ऺॕ कग़न ऺमजॊलक ऻॖ?   
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Which of the following is homothallic?/ोनम् न म७ ऺॕ कग़न ऺमजॊलक ऻॖ?   

Rhizopus nigricans/रॊइजख़पऺ ोनगरॎकॠ ऺ  

Rhizopus stolonifer/रॊइजख़पऺ ऺ् टख़लख़नॎफर

Rhizopus sexualis/रॊइजख़पऺ ऺॕक् यॏलऺ

Both Rhizopus nigricans & Rhizopus stolonifer / रॊइजख़पऺ
ोनगरॎकॠ ऺ एशॠ रॊइजख़पऺ ऺ् टख़लख़नॎफर दख़नख़ ॠ

Correct Answer :­Rhizopus sexualis/रॊइजख़पऺ ऺॕक् यॏलऺ 

8)

Question Stimulus :­

 Chief enzyme found in yeast cell is:­/ईऺ् ट कख़ोषकॊ म७ बॽलतॊ म७ पॊयॊ जॊनॕ शॊलॊ
एॠ जॊइम ऻॖ:

Amylase/एमॊइलॕज

Maltase/मॊल् टॕज

Zymase/जॊइमॕज

 Ligase/लॊइगॕज   

Correct Answer :­Zymase/जॊइमॕज 

9)

Question Stimulus :­

The reserve food in yeast is the form of:­/ईऺ् ट कख़ोषकॊ म७  ॠऺचोयत भख़जन ___ कॕ
ॹप म७ ऻख़तॊ ऻॖ।  

Starch/ऺ् टॊच१          

Cellulose/ऺॕलॏलख़ज  

Oils & glycogen/तॕल एशॠ ग् लॊइकख़जन      

Protein/ ঋख़टॎन
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Correct Answer :­Oils & glycogen/तॕल एशॠ ग् लॊइकख़जन       

10)

Question Stimulus :­

Yeast belongs to class:­/ईऺ् ट ोकऺ शग१ म७ आतॊ ऻॖ?

Deuteromycetes/Āॐटॕरख़मॊइोऺटॎज         

Basidiomycetes/बॕऺॎोडयख़मॊोऺटॎज

Zygomycetes/जॊइगख़मॊोऺोटज               

Ascomycetes/ एऺ् कख़मॊइोऺटॎज    

Correct Answer :­Ascomycetes/ एऺ् कख़मॊइोऺटॎज     

11)

Question Stimulus :­

Saccharomycodes Ludwigii ascus produces­/ऺॕॿख़मॊोऺोटज लॏडोशगॎ कतनॕ एऺ् कऺ
उत् पन् न करतॊ ऻॖ?  

16 ascospores/16 एऺ् कख़ऺ् पख़र               

8 ascospores/8 एऺ् कख़ऺ् पख़र

4 as cospores/ 4 एऺ् कख़ऺ् पख़र                        

Large number of ascospore/ बॽत अोधक  ॠऺख् यॊ म७ एऺ् कख़ऺ् पख़र      

Correct Answer :­4 as cospores/ 4 एऺ् कख़ऺ् पख़र                         

12)

Question Stimulus :­

The zygospores formed by the conjugation of gametangia are:­/यॏ৒कधॊनॎ कॕ
ॠऺयॏग् मन ऺॕ यॏग् मॊणॏ बनतॕ ऻ॰, जख़ कऻलॊतॕ ऻ॰?

Thick walled & black/मख़टॎ ोभोĀ एशॠ कॊलॕ

Thin walled & blue/पतलॎ ोभोĀ एशॠ नॎलॕ
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Thick walled and blue/मख़टॎ ोभोĀ एशॠ नॎलॕ

Thin walled & Green/पतलॎ ोभोĀ एशॠ ऻरॕ

Correct Answer :­Thick walled & black/मख़टॎ ोभोĀ एशॠ कॊलॕ 

13)

Question Stimulus :­

Who classified fungi under kingdom myceteae of super kingdom
Eukaryota?/ ोकऺनॕ शग५करण म७  इĀ७ अोध­जगत यॐकॕौरयख़टॊ कॕ अन् तग१त एक प॑थक जगत
मॊइोऺटॎ म७ रखॊ?  

Whittaker/श् ऻॎटॕकर                            

Copeland/ कख़पल७ड  

Gregory/ঁॎगख़र                           

Alexopoulos & Mims/एलॕक् ऺ ख़पख़लऺ एशॠ ोमम् ऺ   

Correct Answer :­Alexopoulos & Mims/एलॕक् ऺ ख़पख़लऺ एशॠ ोमम् ऺ    

14)

Question Stimulus :­

Elias fries, presented 1st detailed classification of fungi in his book
named­/एलयॊऺ ঌॊइऺ, कशकख़ कॊ ोशऺ् त॑त शग५करण ऺश१ঋथम ोकऺ ोकतॊब ကॊरॊ ঋकॊोषत
ोकयॊ?  

Sylloge Fungorum/ऺॊइलख़ज फॠ गख़रम

Systema Mycologicum/ऺऺ् टॕमॊ मॊइकख़लॊोजयम             

Species plantarum/ऺ् पॎऺॎज प् लॊन् टॕरम

Elements de botanique/एोलम७टऺ डॎ बख़टॖोनक

Correct Answer :­Systema Mycologicum/ऺऺ् टॕमॊ मॊइकख़लॊोजयम              

15)

Question Stimulus :­
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According to Alexopoulus (1962), sub division Eumycotina is divided into­/
अलॕक् जख़पख़लऺ(1962) कॕ अनॏऺॊर यॐमॊइकख़ोटनॊ ोडशॎजन कख़ बॊँटॊ गयॊ ऻॖ?

4 classes/4 शग१ म७ 

8 classes/ 4 शग१ म७

12 classes/ 12 शग१ म७      

7 classes/ 7 शग१ म७

Correct Answer :­8 classes/ 4 शग१ म७ 

16)

Question Stimulus :­

Saprophytes and parasites both are found in:­/म॑तख़पजॎशॎ एशॠ परजॎशॎ दख़नख़ ॠ पॊयॕ
जॊतॕ ऻ॰­

Oomycetes/ओमॊइोऺटॎज

Chytridiomycetes/कॊइट३ ॊइडयख़ मॊइोऺटॎज     

Zygomycetes/जॊइगख़मॊइऺटॎज

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­All of the above/उपरख़क् त ऺभॎ 

17)

Question Stimulus :­

Polyplanetism is found in:­/बॽचॊोलतॊ पॊयॎ जॊतॎ ऻॖ:­

Albugo/ऐल् बॐगख़                                    

 Achlya/ऐ्মयॊ  

systopus/ोऺऺ् टख़पऺ                              

Phytophthora/ फॊइटख़Āथख़रॊ  

Correct Answer :­ Achlya/ऐ्মयॊ   
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18)

Question Stimulus :­

Which of the following are not the members of zygomycetes?/ोनम् न म७ ऺॕ कग़न
जॊइगख़मॊइकख़ोटनॊ कॊ ऺदऺ् य नऻॎ ॠ ऻॖ?   

Mucor/म्◌ठ् यॐकर        

Choanephora cucurbitarum/कख़एनॕफख़रॊ कॏ करबॕटॕरम               

C. Trispora/ कख़.ट३ ॊइऺ् पख़रॊ                      

Albugo/ऐल् बॐगख़

Correct Answer :­Albugo/ऐल् बॐगख़ 

19)

Question Stimulus :­

According to Guillermond (1940), life cycle formed in yeast is:­/गॏइलरमख़ ॠड
(1940) कॕ अनॏऺॊर, ईऺ् ट कॕ जॎशन चॿ म७ ভॊ पॊयॕ जॊतॕ ऻ॰?    

Haplobiontic life cycle /अध् यगॏोणत जॎशन चॿ

 Diplobiontic life cycle /अोधोदशगॏोणत जॎशन चॿ

Haplodiplobiontic life cycle /ऺमोदगॏोणतॊगॏणत जॎशन चॿ

All of the above/उपरख़क् त ऺभॎ  

Correct Answer :­All of the above/उपरख़क् त ऺभॎ   

20)

Question Stimulus :­

Apothecium, fruiting body, is found in:­/एपख़थॎोऺयम, फलन कॊप पॊई जॊतॎ ऻॖ:­   

Claviceps/क् लॖशॎऺॕप् ऺ  म७    

Peziza/पॕजॊइजॊ म७

Phyllactina/ोफल् लॖ्ঠनॊ म७ 
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Phyllactina/ोफल् लॖ्ঠनॊ म७ 

All of the above/उपरख़क् त ऺभॎ  

Correct Answer :­Peziza/पॕजॊइजॊ म७ 

21)

Question Stimulus :­

Receptive region, female reproductive organ in aspergillus is:­/एऺ् परोजलऺ
म७, ऺ् আॎयॏग् मक धॊनॎ कॊ ঁॊऻॎ ঴ॕআ ভॊ कऻलॊतॊ ऻॖ? 

Stalk/आधॊर                             

Trichogyne/ट३ ॊइकख़गॊइन          

Ascogonium/ऐऺ् कख़गख़ोनयम                   

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Trichogyne/ट३ ॊइकख़गॊइन           

22)

Question Stimulus :­

“Leathery apothecium” is found in the member of which order in fungi?/
‘चम१शत एपख़थॎोऺयम’ कशक कॕ ोकऺ गण म७ पॊयॕ जॊतॕ ऻ॰?   

Endomycetales/एॠ डख़मॊइोऺटॕलॕऺ        

Aspergillales/एऺ् परोजलॕल् ऺ      

Pezizales/पॕजॊइजॕल् ऺ                                  

Ustilaginales/आऺ् टॎलॊोजनॕल् ऺ

Correct Answer :­Pezizales/पॕजॊइजॕल् ऺ                                   

23)

Question Stimulus :­

Which of the following is an important sex hormone in fungi?/ोनम् न म७ ऺॕ

कशक कॊ मॏख् य ोलॠग ऻॊमॳन ऻॖ:­
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कशक कॊ मॏख् य ोलॠग ऻॊमॳन ऻॖ:­

Sirenin/ोऺरॕोनन                                

Antheridiol/एॠ ইॎोडयख़ल

Hormone­D/ऻॊमॳन ­D    

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­All of the above/उपरख़क् त ऺभॎ 

24)

Question Stimulus :­

Stanley received Noble prize in 1935 for?/ऺ् टॕनलॕ कख़ 1935 म७ ोकऺकॕ ोलयॕ नख़बॕल
पॏॹऺ् कॊर ोमलॊ थॊ?

Crystallization of TMV/ TMV कॕ ोॿऺ् टलॎकरण कॕ ोलयॕ

Discovery of bacteriophage/बॖक् टॎौरयख़फॕज कॎ खख़ज कॕ ोलयॕ

Discovery of Interferon/  इॠटरफॕरख़न कॎ खख़ज कॕ ोलयॕ

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­Crystallization of TMV/ TMV कॕ ोॿऺ् टलॎकरण कॕ ोलयॕ 

25)

Question Stimulus :­

Which of the following insect is Vector of TMV?/ोनम् न म७ ऺॕ कग़न­ऺॊ कॎटॊणॏ TMV
कॊ शॊऻक ऻॖ?

Myzers persica/मॎजरऺ पॕरॎऺॎकॊ

M. Pseudosolenoid/एम. ऺ् थॐडख़ऺख़लॎनॎ

Microsiphon solanifolii/मॊइकख़ऺॊइफन ऺख़लॊनॎफख़लॊई

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­All of the above/उपरख़क् त ऺभॎ 
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26)

Question Stimulus :­

Genetic material of TMV is:­/ TMV कॊ आनॏशॊॠोषक पदॊथ१ ऻॖ:­

Double strand DNA/ोदशगॏोणत DNA

Single strand DNA/ एक  ॐऺআॎय DNA

Double stand RNA/ोदशगॏोणत RNA

Single strand RNA/एक  ॐऺআॎय RNA

Correct Answer :­Single strand RNA/एक  ॐऺআॎय RNA 

27)

Question Stimulus :­

Which of the following is not internal symptom of viral disease in plants?/ ोनम् न म७
ऺॕ कग़न­ऺॊ ल঴ण पॊदप रख़ग कॊ आॠतरक कॊरण नऻॎ ॠ ऻॖ?

Intracellular inclusion bodies/ अॠतरकख़ोषकॎय ऺमॊशॕष

Hyperplasia/ अोतशध१न

Necrosis/ऊतक঴य

None of the above/उपरख़क् त म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of the above/उपरख़क् त म७ ऺॕ कख़ई नऻॎ ॠ 

28)

Question Stimulus :­

Infective part of virus was discovered by:­/शॊयरऺ कॕ  ॠऺॿॊमक अॠष कॎ खख़ज ोकऺनॕ कॎ?

Stanley/ऺ् टॕनलॕ

Ivanowski/इशॊनख़ऺ् कॎ

Baltimore/शॊल् टॎमख़र

Hershey & chase/ ऻ ८ऺ एशॠ चॕज
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Correct Answer :­Hershey & chase/ ऻ ८ऺ एशॠ चॕज 

29)

Question Stimulus :­

Bacteriophage were discovered by:­/'बॖक् टॎरयख़फॊज' कॎ खख़ज ोकऺनॕ कॎ?

W.M. Stanley/डब् ल् यॐ .एम. ऺ् टॕनलॕ

D. Ivanowski/डॎ. इशॊनख़ऺ् कॎ

Twot & D herelle/ट३ ॳट एशॠ डॎ ऻॕरॕल

Beijerinck/बॕजॳोनक

Correct Answer :­Twot & D herelle/ट३ ॳट एशॠ डॎ ऻॕरॕल 

30)

Question Stimulus :­

Genome of cauliflower mosaic virus (CaMV) is:­/पत् तॊगख़भॎ भख़जॕक शॊयरऺ जॎनख़म ऻख़तॊ ऻॖ:­

8 kb ds­DNA

8 bp ds­DNA

120 kb ss­RNA

120 kb ds­RNA/

Correct Answer :­8 kb ds­DNA 

31)

Question Stimulus :­

Which of the following are correct about CaMV?/ोनम् न म७ ऺॕ कग़न­ऺॊ कथन CaMV कॕ ोलयॕ
ऺऻॎ ऻॖ?

CaMV genome contains 3 discontinuities/ CaMV कॕ जॎनख़म म७ 3 अलगॊँश ऻख़तॕ ऻ॰

CaMV has 8 tightly packed genes/ CaMV म७ Āढ३तॊ ऺॕ 8 जॎन बॠधॕ ॽयॕ ऻख़तॕ ऻ॰

CaMV has ds­DNA/CaMV म७ ोကगॏोणत DNA ऻख़तॕ ऻ॰
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All of the above/उपरख़क् त ऺभॎ

Correct Answer :­All of the above/उपरख़क् त ऺभॎ 

32)

Question Stimulus :­

The promoter of CaMV is:­/ CaMV कॊ शॊऻक ऻॖ:­

35 S

Emu

Adh­1

All of above/उपरख़क् त ऺभॎ

Correct Answer :­35 S 

33)

Question Stimulus :­

Viruses with RNA as genomes, requires ______ for their replication?/ोशहॊणॏ
ोजनकॕ जॎनख़म म७ RNA ऻख़तॊ ऻॖ, उĀ७ ोကगॏणन कॕ ोलयॕ ______ कॎ आशष् यकतॊ ऻख़तॎ ऻॖ?

Viral coded polymerases/शॊयरल कख़ोडत पख़लॎमॕरऺॕऺ

DNA poly III/ DNA पख़लॎ III

Helicase/ऻॕलॎकॕज

RNA poly I & III/ RNA पख़लॎ I & III

Correct Answer :­Viral coded polymerases/शॊयरल कख़ोडत पख़लॎमॕरऺॕऺ 

34)

Question Stimulus :­

After synthesis in host cell, the DNA viruses are assembled in the _____. /
पख़हॎ कख़ोषकॊ म७ बननॕ कॕ बॊद, DNA ोशहॊणॏ ______ म७ एको঴त ऻख़तॕ ऻ॰।

Nucleus/ ကॐ्মयऺ
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Mitochondria/मॊइट३ ख़कॗोड३ यॊ

Chromosomes/ॿख़मख़ऺख़म् ऺ

Vacuoles/शॕक् यॐल

Correct Answer :­Nucleus/ ကॐ्মयऺ 

35)

Question Stimulus :­

Plant viruses can be cultivated by______./पॊदप ोशहॊणॏओॠ कख़ ____ उत् पन् न ोकयॊ जॊ ऺकतॊ
ऻॖ।

Rubbing virus suspension on leaves/ोशहॊणॏओॠ कॕ घख़ल कख़ पोĀओॠ पर रगीनॕ ऺॕ

Co­culturing virus with protoplast culture/ ोशहॊणॏओॠ कख़ ঋख़टख़प् लॊऺ् ट कॕ ऺॊथ ऺऻ ॠऺशध१न
करनॕ ऺॕ

Both the above/ उपरख़ঢ दख़नख़ ॠ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above/ उपरख़ঢ दख़नख़ ॠ 

36)

Question Stimulus :­

Coat protein (CP) gene in Brome Mosaic Virus (BMV) is located on­/’कॐ च१
मॕजॖक ोशहॊणॏ‘ म७ आशरण ঋख़टॎन जॎन कऻॊँ उप्Āथत ऻख़तॊ ऻॖ?

RNA segment 1/ RNA ऺॕग् म७ट 1

RNA segment 2/ RNA ऺॕग् म७ट 2

RNA segment 3/ RNA ऺॕग् म७ट 3

DNA

Correct Answer :­RNA segment 3/ RNA ऺॕग् म७ट 3 

37)

Question Stimulus :­
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The bacterial gene “Cat” was inserted in BMV in the:­/ BMV म७ जॎशॊणॏ कॊ
“Cat” जॎन कऻॊँ डॊलॊ गयॊ ऻॖ?

CP gene/ CP जॎन

RNA segment 2/ RNA ऺॕग् म७ट 2

Both the above/ उपरख़ঢ दख़नख़ ॠ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­CP gene/ CP जॎन 

38)

Question Stimulus :­

Which of the following material is used as negative staining in electron
microscope?/इलॕक् ट३ ॊन मॊइॿख़ऺ् कख़प म७, ोनम् न म७ ऺॕ कग़न­ऺॊ पदॊथ१ नकॊरॊत् मक रॠजन म७ उपयख़ग ऻख़तॊ
ऻॖ?

Acetocaramine/एऺॎटख़कॊरमॊइन

Feulgen fuschin/Āॐलजन Āॐषोचन

Phosphotungstic Acid/फॊऺ् फख़टॠोग्Āक अम् ल

Crystal violet/ोॿऺ् टल ब॰गनॎ

Correct Answer :­Phosphotungstic Acid/फॊऺ् फख़टॠोग्Āक अम् ल 

39)

Question Stimulus :­

Which of the following is a symptom of virus infection in plants?/ोनम् न म७ ऺॕ कग़न­ऺॕ
पग़धख़ ॠ म७ ोशहॊणॏ  ॠऺॿमण ल঴ण कॕ ऻ॰?

Mosaic pattern on leaves/ पोĀयख़ ॠ पर मख़िॕक पॖटन१

Yellow of leaves/ पोĀयख़ ॠ कॊ पॎलॊपन

Witches brooms/कॐ च५ऺम रख़ग

All of above/उपरख़क् त ऺभॎ
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Correct Answer :­All of above/उपरख़क् त ऺभॎ 

40)

Question Stimulus :­

Transmission of bean mosaic virus and necrotic ring spot virus in plants
takes place through­/ फलॎय मख़जॖक ोशहॊणॏ एशॠ ऊतक঴ॎय शलयचकतॊ ोशहॊणॏओॠ कॊ  ॠऺरचण
ऻख़तॊ ऻॖ­

Suckers/भॐऺ् तौरयॊ ကॊरॊ

Rhizomes/ঋकॠ दख़ ကॊरॊ

Corms/घनकॠ दख़ ကॊरॊ

Pollen grains/परॊगकणख़ ॠ कॕ ကॊरॊ

Correct Answer :­Pollen grains/परॊगकणख़ ॠ कॕ ကॊरॊ 

41)

Question Stimulus :­

The bacteria that causes cancer & gummosis is:­/क॰ ऺर एशॠ गॐमख़ोऺऺ ोकऺ बॖक् टॎौरयॊ कॕ
कॊरण ऻख़तॊ ऻॖ?

Pseudomonas syringae/ऺ् यॐडख़मख़नॊऺ ऺॎौरॠजॎय

A. tumefaciens/ए. Āॐोमोफोषयॠऺ

X. campestris/एक् ऺ . कॕम् पॕऺ् ोट३ऺ

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­Pseudomonas syringae/ऺ् यॐडख़मख़नॊऺ ऺॎौरॠजॎय 

42)

Question Stimulus :­

Exchange of genetic material in bacteria through conjugation is proved by?/
जॎशॊणॏओॠ म७  ॠऺयॏग् मन कॕ दग़रॊन आनॏशॊॠोषक पदॊथ१ कॊ आदॊन­ঋदॊन ऻख़तॊ ऻॖ, ोकऺनॕ ोऺĀ ोकयॊ?

Avery, Mcleod and McCarty (1944)/एशॕरॎ, मॕकोलऑड एशॠ मॕककॊट५ (1944)

Robert Koch/रॊबट१ कॊच

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Tatum & Lelderberg (1947)/टॊटम एशॠ लॕडरशग१ (1947)

H.G. Khurana/एच.जॎ. खॏरॊनॊ

Correct Answer :­Tatum & Lelderberg (1947)/टॊटम एशॠ लॕडरशग१ (1947) 

43)

Question Stimulus :­

Gram Negative bacterium are not stained by crystal violet dye because of/ ोॿऺ् टल
बॖरॊनॎ अोमरॠजन ऺॕ ঁॊम ोनगॕोटश जॎशॊणॏ, रॠ ोजत नऻॎ ॠ ऻख़तॕ क् यख़ ॠोक­

More lipid content /ोलोपड कॎ मॊআॊ ज् यॊदॊ ऻख़तॎ ऻॖ

Less lipid content/ोलोपड कॎ मॊআॊ कम ऻख़तॎ ऻॖ

Both of the above/उपरख़ঢ दख़नख़ ॠ

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both of the above/उपरख़ঢ दख़नख़ ॠ 

44)

Question Stimulus :­

Number of ribosomes in a bacterial cell is:­/एक जॎशॊणॏ कख़ोषकॊ म७ रॊइबख़ऺख़म कॎ  ॠऺख् यॊ
ऻख़तॎ ऻॖ:­

10­20

100­2000

100­200

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ 

45)

Question Stimulus :­

Which of the following is an example of Amphitrichous form of bacterium?/ोनम् न म७
ऺॕ कग़न­ऺॊ जॎशॊणॏ उभयकषॊभॎ कॊ उदॊऻरण ऻॖ?
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P. Fluorescens/पॎ.Āख़ौर ॰ऺऺ

Nitrosomonas/नॊइट३ ॕऺख़मख़नॊऺ

Proteus vulgaris/ঋख़टॎयऺ शĀॖौरऺ

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Nitrosomonas/नॊइट३ ॕऺख़मख़नॊऺ 

46)

Question Stimulus :­

“Little leaf disease of bringal” is caused by:­/ब॰गन कॊ लधॏपण१ रख़ग कॊ कॊरण ऻॖ?

Ustilago/अ्Āॎलॊगख़

Chlorobium/क् लख़रख़ोबयम

Mycoplasma/मॊइकख़प् लॊज् मॊ

Albugo/एĀॏगख़

Correct Answer :­Mycoplasma/मॊइकख़प् लॊज् मॊ 

47)

Question Stimulus :­

The CapSomers, in bacteriophage, consist of a number of protein subunits known
as:­/ पॕोटकॊॠषक, जख़ ঋख़टॎन उप­ इकॊइयख़ ॠ ऺॕ गोणत ऻख़, उन जॎशॊणॏभख़जॎ कख़ कऻतॕ ऻॖ:­

Polyhedron/पॗलॎऻॕड३ ॊन

Protomers/ঋख़टख़मर

Virions/ोशरयॊन

All of the above/उपरख़क् त ऺभॎ

Correct Answer :­Protomers/ঋख़टख़मर 

48)

Question Stimulus :­

Father of phytobacteriology is:­/पॊदप जॎशॊणॏ ोशĀॊन कॕ ोपतॊ  कग़न ऻ॰?
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Father of phytobacteriology is:­/पॊदप जॎशॊणॏ ोशĀॊन कॕ ोपतॊ  कग़न ऻ॰?

Edward Jenner/एडशड१ जॕनर

Robert koch/रॊशट१ कॗच

E.F. smith/ई.एफ. ्Āथ

Millardet/ोमलरडॕट

Correct Answer :­E.F. smith/ई.एफ. ्Āथ 

49)

Question Stimulus :­

An Icosahedral phage with circular single stranded DNA is:­/ एक ऺमफलकॎ
ोशभख़जॎ ोजऺम७ एक गख़लॊकॊर DNA तॠतॏ ऻख़तॊ ऻॖ?

M13

 × 174

d

T2

Correct Answer :­  × 174 

50)

Question Stimulus :­

Initial adsorption of the phage to the receptor (in host cell) is reversible when:­/
ोशभख़जॎ कॊ परहख़पॎ कॎ ঁॊऻॎ ऺतऻ पर अशषख़हण ऻख़तॊ ऻॖ, जब :­

Only the tips of the tail filers attach first/ पॏच् छ तॠतॏ षॎह१ पर जॏीॕ रऻतॕ ऻ॰

Only tail pins attach/ोऺफ१  पॏच् छ पॖर जॏीॕ ऻख़तॕ ऻॖ

Tail tube attach/पॏच् छ नोलकॊ जॏीॎ ऻख़तॎ ऻॖ

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Only the tips of the tail filers attach first/ पॏच् छ तॠतॏ षॎह१ पर जॏीॕ
रऻतॕ ऻ॰ 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


51)

Question Stimulus :­

“Corn stunt disease” is caused by­/”मक् कॕ कॊ बग़नॊ रख़ग” ोकऺकॕ ကॊरॊ ऻख़तॊ ऻॖ?

Mycoplasma/मॊइकख़प् लॊज् मॊ

Candida/क७ ोडडॊ

Spiro plasma/ऺ् पॊइरख़प् लॊज् मॊ

Albugo/ऐĀॐगख़

Correct Answer :­Spiro plasma/ऺ् पॊइरख़प् लॊज् मॊ 

52)

Question Stimulus :­

Father of virology is:­/ोशहॊणॏ ोशĀॊन कॕ ोपतॊ कऻॊ जॊतॊ ऻॖ।

Millardet/ोमलॊरडॕट

Ivanowski/ईशॊनख़ऺ् कॎ

W.N. Stanley/डब् ल् यॐ.एन ऺ् टॕनलॕ

Beijerinck/बॎजौरन् क

Correct Answer :­Beijerinck/बॎजौरन् क 

53)

Question Stimulus :­

Muller (1961) proposed the role of______in disease resistance in plants?
/मॏलर(1961) नॕ बतॊयॊ कॎ______कॎ भॐोमकॊ पग़धख़ ॠ म७ रख़ग ঋोतरख़ध कॎ ऻख़तॎ ऻॖ।

Phytoalexins/फॊइटख़ऐलॕ्সन् ऺ

Phytoalleles/फॊईटख़ऐोलल् ऺ

Heparins/ऻॕपॊौरन् ऺ

All of the above/ उपरख़क् त ऺभॎ
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Correct Answer :­Phytoalexins/फॊइटख़ऐलॕ्সन् ऺ  

54)

Question Stimulus :­

The Pathogen causing a simple interest disease in plant is called?/पग़धख़ ॠ म७ ऺॊमॊन् य
ঋभॊशॎ बॎमॊरॎ पॖदॊ करनॕ शॊलॕ रख़गॊणॏ ভॊ कऻलॊतॕ ऻ॰?

Polycyclic pathogen/बॽचॿॎय रख़गॊणॏ

Phytoalexins/फॊइटख़ऐलॕ्সन् ऺ

Monocyclic pathogen/एक चॿॎय रख़गॊणॏ

None of the above/उपरख़क् त म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Monocyclic pathogen/एक चॿॎय रख़गॊणॏ 

55)

Question Stimulus :­

The pathogen which spread internally throughout the host shows:­/शऻ रख़गॊणॏ जख़
पख़हक म७ अॠतरत: फॖल जॊतॕ ऻ॰, दषॊ१तॕ ऻ॰ ­

Localized invasion/ऺॎोमत धॊशॊ

Systemic Invasion/ दॖोऻक धॊशॊ

Resistance/ঋोतरख़ध

No effect/ कख़ई ঋभॊश नऻॎ ॠ

Correct Answer :­Systemic Invasion/ दॖोऻक धॊशॊ 

56)

Question Stimulus :­

The stage when pathogens, after deep dormant phase, again start with the active
phase of pathogenesis is called as:­/शऻ अशऺ् थॊ, जब रख़गॊणॏ, एक लम् बॎ गॏप् त अशऺ् थॊ कॕ बॊद
ोफर ऺॕ रख़गजनन कख़ ऺॿॎय अशऺ् थॊ ঋॊरम् भ करतॕ ऻ॰ कऻलॊतॎ ऻ॰:­

Perennation/पॕरॕन् नॕषन

Penetration/भॕदन
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Primary Inoculum/ঋॊथोमक  ॠऺचॊरण

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­Perennation/पॕरॕन् नॕषन 

57)

Question Stimulus :­

Which of the following is not air borne disease in plant?/पग़धख़ ॠ म७ ोनम् न म७ ऺॕ कग़न­ऺॊ रख़ग
शॊयॏ जोनत नऻॎ ॠ ऻॖ?

Downy mildew/म॑दॏरख़ोमल आोऺतॊ

Powdery mildew/चॐोण१ल आोऺतॊ   

Late blight/ोशलॠोशत पॊलॊ

Southern blight/दो঴णॎ पॊलॊ

Correct Answer :­Southern blight/दो঴णॎ पॊलॊ 

58)

Question Stimulus :­

The late blight disease of potato is most serious when the:­/आलॐ कॊ ोशलॠोशत पॊलॊ रख़ग
तब और गॠभॎर ऻख़ जॊतॊ ऻॖ, जब:­

Temperature is high/तॊपमॊन अोधक ऻख़

Temperature is low/तॊपमॊन कम ऻख़

Soil PH is neutral/ म॑दॊ कॊ PH उदॊऺॎन ऻख़

None of the above/उपरख़क् त म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Temperature is low/तॊपमॊन कम ऻख़ 

59)

Question Stimulus :­

In blast disease of rice, what will happen if relative humidity falls below
88%:­/धॊन कॕ तॐय१नॊद रख़ग म७ योद अॠतरॠग आঈॊ 88% ऺॕ कम ऻख़ जॊतॎ ऻॖ, तब क् यॊ ऻख़तॊ ऻॖ?
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Conidia will not be produced/कख़ोनोडयॊ उत् पन् न नऻॎ ॠ ऻख़तॕ ऻ॰

Dwarf plants will be produced/बग़नॕ पग़धॕ बनतॕ ऻ॰

Primary infection increases/ঋॊथोमक  ॠऺॿमण बु जॊतॊ ऻॖ

No effect/कख़ई ঋभॊश नऻॎ ॠ ऻख़तॊ

Correct Answer :­Conidia will not be produced/कख़ोनोडयॊ उत् पन् न नऻॎ ॠ ऻख़तॕ ऻ॰ 

60)

Question Stimulus :­

When will Damping off disease of seedlings become very severe?/अॠकॏ रख़ कॊ अशमॠदन
भॠग रख़ग अोधक घॊतक कब ऻख़ जॊतॊ ऻॖ?

When the temperature increases/ जब तॊपमॊन म७ श॑ोदध ऻख़

When the temperature decreases/ जब तॊपमॊन कम ऻख़ जॊतॊ ऻॖ

When the moisture content of soil increases/ जब म॑दॊ कॎ नमॎ बु
जॊतॎ ऻॖ

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­When the moisture content of soil increases/ जब म॑दॊ कॎ
नमॎ बु जॊतॎ ऻॖ 

61)

Question Stimulus :­

Tobacco necrosis and tomato leaf curl are more conspicuous during:/तॠबॊबॐ कॊ ऊतक
঴य एशॠ टमॊटर कॊ पĀॎ कॏॠ चन रख़ग अोधकतम दॕखॊ जॊतॊ ऻॖ:

winters/ठॠ ड म७

summers/गम५ म७

spring/ब ॠऺत म७

rainy season/बॊौरष म७

Correct Answer :­winters/ठॠ ड म७ 
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62)

Question Stimulus :­

Increase in the concentration of CO2 in soil inhibits the growth of:­/योद म॑दॊ
म७ CO2 कॎ ऺॊॠঈतॊ बु जॊयॕ तख़ ोकऺकॎ श॑ोदध ॹक जॊतॎ ऻॖ?

Rhizoctonia solani/रॊइजख़क् टॎोनयॊ ऺख़लनॎ

Ophiobolus graminis/ओफॎबख़लऺ ঁॕमॎनऺ

Sclerotinia minor/ऺ् कख़लटख़ोनयॊ मॊइनर

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

63)

Question Stimulus :­

Deficiency of nitrogen makes the plants:/ नॊइट३ ख़जन कॎ कमॎ कॕ कॊरण पग़धॕ ____ ऻख़तॕ ऻ॰।

weaker/कमजख़र

slow growing & aging fast/धॎमॎ श॑ोदध एशॠ पौरक् शन

susceptible to pathogens/ रख़गॊणॏ कॕ ঋोत  ॠऺशॕदनषॎल

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­All of above/ उपरख़क् त ऺभॎ 

64)

Question Stimulus :­

Abundance of which mineral in plant increase resistance to “wilt of
tomato”? /ोनम् न म७ ऺॕ ोकऺ खोनज कॎ अोधकतॊ कॕ कॊरण “टमॊटर कॎ Āॊोन” कॕ टमॊटर कॎ
ঋोतरख़धक ঴मतॊ बुतॎ ऻॖ।

Calcium/कॖ्Āषयम

Phosphorous/फॊऺ् फख़रऺ

Boron/बख़रॊन

Both calcium & Phosphorous / कॖ्Āषयम एशॠ फॊऺ् फख़रऺ दख़नख़ ॠ
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Both calcium & Phosphorous / कॖ्Āषयम एशॠ फॊऺ् फख़रऺ दख़नख़ ॠ

Correct Answer :­Both calcium & Phosphorous / कॖ्Āषयम एशॠ फॊऺ् फख़रऺ दख़नख़ ॠ 

65)

Question Stimulus :­

Indicator plant for the diagnosis of Plum Pox Virus (PPV) and Prune Dwarf
Virus (PDV) is:­/आडॐ  चॕचक ोशहॊणॏ (PPV) एशॠ आलॐबॏखॊरॊ बग़नॊपन ोशहॊणॏ (PDV) कॕ रख़ग
ोनदॊन कॕ  ॐऺचक पग़धॕ ऻ॰:­

Prunus tomentosa/ ঋख़नऺ टख़मॕनटख़ऺॊ

Papaver somnifera/ पॕपॊशर ऺख़मनॎफॕरॊ

Babool/बबॐल

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­Prunus tomentosa/ ঋख़नऺ टख़मॕनटख़ऺॊ 

66)

Question Stimulus :­

Serological techniques are based on the:­/ऺॎरख़लॗोजकल तकनॎकॎ आधॊौरत ऻॖ:­

specificity of antigen­antibody interaction/एॠ टॎजन­एॠ टॎबॊडॎ कॕ ঋोत ोशषॕह् टतॊ

use of polyclonal antibody / पॊलॎक् लख़नल एॠ टॎबॊडॎ कॊ उपयख़ग

use of monoclonal antibody / मख़नख़क् लख़नल एॠ टॎबॊडॎ कॊ उपयख़ग

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

67)

Question Stimulus :­

In FAME analysis of identifying phytopathogenic bacteria, FAME are extracted in
a mixture of:­/पॊदप रख़गॊणॏ जॎशॊणॏ कॎ पऻचॊन कॕ ोलयॕ फॕम ोशष् लॕहण म७, ोकऺकॕ ोम঒ण म७ फॕम ोनकॊलॊ
जॊतॊ ऻॖ?

n­Butanol & ether/ एन­ब् यॐटॕनॊल एशॠ ईथर
ether & hexane / ईथर एशॠ ऻॕĀिॕन
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ether & hexane / ईथर एशॠ ऻॕĀिॕन

70% Acetone & ethanol /70% एऺॎटख़न एशॠ ईथनॊल

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­ether & hexane / ईथर एशॠ ऻॕĀिॕन 

68)

Question Stimulus :­

The oligonucleotide probes that employ fluorochromes and quenchas and
fluoresce upon hybridization are known as ­/शऻ ओोलगख़न् यॐ्ভख़टॊइड ঋख़श जख़ फलख़रख़ॿख़Ā
एशॠ क् शॕनच १ऺ कख़ ঋयख़ग कर  ॠऺकरण कॕ पष् चॊत ঋदॎप् त करतॕ ऻ॰, उनकख़ कऻतॕ ऻ॰­

Chimera/ ोकमॕरॊ

Molecular Beacons/ आ्Āक आकॊषदॎप

Operon / ओपॕरन

Replicon/ रॕप् लॎकॗन

Correct Answer :­Molecular Beacons/ आ्Āक आकॊषदॎप 

69)

Question Stimulus :­

Which of the following is suitable for deletion of variation within pathogen
populations is:­/ोनम् न म७ ऺॕ कग़न रख़गॊणॏ  ॠऺख् यॊ कॎ ोभन् नतॊ कॎ जॊँच कॕ ोलयॕ उपयॏक् त ऻॖ?

RAPD

Molecular Beacons /आ्Āक आकॊषॎय

both RAPD & Molecular Beacons / RAPD एशॠ आ्Āक आकॊषॎय दख़नख़ ॠ

None of the above/ ोनĀ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­RAPD 

70)

Question Stimulus :­
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Heat stable DNA polymerases used in PCR is:­/ PCR म७ उपयख़ग ऻख़नॕ शॊलॊ ऊह् मॊ
्Āथर DNA पख़लॎमरॕज ऻॖ:­

Taq

Pfu

Vent

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

71)

Question Stimulus :­

Techniques used for sampling of air borne pathogen is:­/शॊयॏ जोत रख़गॊणॏ कॎ जॊँच कॕ ोलयॕ
कग़न­ऺॎ तकनॎक उपयख़ग ऻख़तॎ ऻॖ?

Tilak Sampler/ोतलक नमॐनॊ

Setting plate/ऺ् थॊयॎकरण प् लॕट

Burkard spore trap/बॏरकॊड१ रख़गॊणॏ फॠ ऺॊनॊ

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

72)

Question Stimulus :­

Chitin and ergosterol, if present in the plants, are indicative of which pathogen?/
कॊइोटन एशॠ इरगख़ऺ् टॕरॗल, योद पग़धख़ ॠ म७ उप्Āथत ऻ॰ तख़ ोकऺ रख़गॊणॏ कॊ  ॐऺचक कग़न ऻॖ?

RLOs/आर.एल.ओऺ

Bacterial/जॎशॊणॏ

Fungal/कशक

Phytoplasma/फॊइटख़प् लॊज् मॊ

Correct Answer :­Fungal/कशक 
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73)

Question Stimulus :­

Measure of the degree of infection (in plants) is known as:­/पग़धख़ ॠ म७  ॠऺकमण कॕ पौरमॊण
कॎ मॊप कख़ ভॊ जॊनॊ जॊतॊ ऻॖ?

Disease incidence/रख़ग कॊ पॖमॊनॊ

disease severity/ रख़ग कॎ उঁतॊ

Perennation/पॕरॎनॕषन

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­disease severity/ रख़ग कॎ उঁतॊ 

74)

Question Stimulus :­

Equation used in critical point model to relate yield to disease assessment in
plant is:­/पग़धख़ म७ रख़ग एशॠ उत् पदतॊ कॕ बॎच  ॠऺबॠध ोनधॊ१रण ऻॕतॏ ঋयख़ग ऻख़नॕ शॊलॕ ॿॊॠोतक ोबन् दॏ मॗडल कॊ
ऺमॎकरण ऻॖ:­

L=cx

L= b1×1 + b2 ×2 +bn Xn

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­L=cx 

75)

Question Stimulus :­

The interaction of four components, to develop a disease in plants can be
visualized in:­/पग़धख़ ॠ म७ रख़ग उत् पन् न करनॕ शॊलॎ चॊर घटकख़ कॎ अन् यख़न ोॿयॊ कख़ दॕखतॕ ऻ॰:­

Disease tetrahedron/रख़ग टॕट३ ॊऻॕड३ ॊन

Disease pyramid / रख़ग ोपरॊोमड
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Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above / उपरख़ঢ दख़नख़ ॠ 

76)

Question Stimulus :­

Tardive epidemics occur when the pathogen are:­/टॊरोडश मऻॊमॊरॎ ऻख़तॎ ऻॖ, जब रख़गॊणॏ
_____ ऻख़तॕ ऻ॰।

non systemic/अदॖोऻक

systemic to varying extent /दॖोऻक एशॠ बॽत छद तक घॊटतॕ­बुतॕ

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­non systemic/अदॖोऻक 

77)

Question Stimulus :­

The first computer simulation programme to simulate early blight, epidemics of
tomato & potato was:­/टमॊटर और आलॐ मऻॊमॊरॎ पॐश१ अगमॊरॎ रख़ग कॊ पऻलॊ  ॠऺगणक अनॏॹपतॊ
कॊय१ॿम ऻॖ:­

EPIVEN/ईपॎशॕन

EPIDMIC / इपॎोडमॕक

EPIDEM/इपॎडॎम

MYCOS/मॊइकख़ऺ

Correct Answer :­EPIDEM/इपॎडॎम 

78)

Question Stimulus :­

The likelihood of epidemics can be reduced by going with _____:­/मऻॊमॊौरयख़ ॠ कॎ
ॠऺभॊशनॊ कख़ ____ ऺॕ कम ोकयॊ जॊ ऺकतॊ ऻॖ।
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Multiline varieties/ बॽरॕखॎय ঋजॊोत

Mixture of distinct varieties / ोशोभन् न ঋजॊोतयख़ ॠ कॕ ोम঒ण

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above / उपरख़ঢ दख़नख़ ॠ 

79)

Question Stimulus :­

Plasma gene mutation is absent in which plant pathogen?/ोनम् न म७ ऺॕ ोकऺ पॊदप रख़गॊणॏ
म७ प् लॊज् मॊ जॎन उत् पौरशत१न नऻॎ ॠ ऻख़तॊ ऻॖ?

Mucor/म् यॐकर

TMV / टॎ एम शॎ

Aspergillus /एऺ् परोजलऺ

Phytoplasma/फॊइटख़प् लॊज् मॊ

Correct Answer :­TMV / टॎ एम शॎ 

80)

Question Stimulus :­

Heterokaryosis in plant pathogenic fungi is due to:­/पॊदपख़ ॠ कॕ कशक रख़गॊणॏ
ोशहमकॕन् ঈकॎय ोकऺ कॕ कॊरण ऻख़तॕ ऻॖ:­

Anastomosis/फॏ ईजॊल

mutation /उत् पौरशत१न

diploidization /ोကगॏणोतकरण

All of the above/ उपरख़क् त ऺभॎ

Correct Answer :­All of the above/ उपरख़क् त ऺभॎ 

81)
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Question Stimulus :­

Which of the following is pathotype specific in plants?/ ोनम् न म७ ऺॕ कग़न पग़धख़ ॠ म७ रख़गॊणॏ
ঋकॊर ोशोषह् ट ऻॖ?

Vertical resistance/लĀशत ঋोतरख़धक

horizontal resistance/ऺमॊनॠतर ঋोतरख़धक

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Vertical resistance/लĀशत ঋोतरख़धक 

82)

Question Stimulus :­

Varieties of a host species used to identify physiological races of a pathogen are
known as:­/रख़गॊणॏ कॎ ोॿयॊत् मक पॎुॎ कख़ पऻचॊन करनॕ ऻॕतॏ पख़हक ঋजॊोत कॎ ोभन् न कऺ् मख़ ॠ कॊ ঋयख़ग
ोकयॊ जॊतॊ ऻॖ, ोजन् ऻ७ कऻतॕ ऻ॰:­

Differential hosts/अॠतरॎय पख़हक

host testers/ पख़हक परॎ঴क

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above / उपरख़ঢ दख़नख़ ॠ 

83)

Question Stimulus :­

The incompatible reaction is found in/ अऺॊमॠजऺ् य ोॿयॊ ऻख़तॎ ऻॖ ­

Biotrophs/बॊयख़ट३ ॊप् ऺ  म७

Obligate parasites/ऑĀॎगॕट पॖरॊऺॊइट म७

Facultative parasites /फॖकल् टॎोटश म७

Both Biotrophs & obligate parasites /बॊयख़ट३ ॊप् ऺ  एशॠ ऑĀॎगॕट पॖरॊऺॊइट दख़नख़ ॠ म७
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Correct Answer :­Both Biotrophs & obligate parasites /बॊयख़ट३ ॊप् ऺ  एशॠ ऑĀॎगॕट
पॖरॊऺॊइट दख़नख़ ॠ म७ 

84)

Question Stimulus :­

In India (1914), first quarantine regulation was passed by government
under the title?/भॊरत म७ (1914) म७ ऺरकॊर नॕ  ोकऺ पद कॕ नॊम ऺॕ ঋथम  ॠऺगरख़धन
अोधोनयम पॊऺ ोकयॊ?

Destructive Insects & Pests Act (DIP ACT)/भॠजक कॎट एशॠ परख़पजॎशॎ कॊनॐन (DIP
ACT)

Federal Quarantine Acts/ ॠऺघॎय  ॠऺगरख़धन कॊनॐन

Seed certification Act /बॎज ঋमॊणॎकरण कॊनॐन

All of the above / उपरख़क् त ऺभॎ

Correct Answer :­Destructive Insects & Pests Act (DIP ACT)/भॠजक कॎट एशॠ
परख़पजॎशॎ कॊनॐन (DIP ACT) 

85)

Question Stimulus :­

Physical methods of eradicating pathogen inoculation is:­/रख़गॊणॏ  ॠऺचरण कॕ उनमॐलन ऻॕतॏ
भग़ोतक ोशोध ऻॖ:­

Heat treatment/उह् मॊ उपचॊर ကॊरॊ

Refrigeration/षॎतलन ကॊरॊ

Radiation /ोशोकरण ကॊरॊ

All of the above / उपरख़क् त ऺभॎ

Correct Answer :­All of the above / उपरख़क् त ऺभॎ 

86)

Question Stimulus :­

Which of the following are protectant fungicides?/ ोनĀ म७ ऺॕ कग़न­ऺॊ  ॠऺर঴ॎ
कशकनॊषॎ ?

Bordeaux mixture/ बॗड८क्ऺ ोम঒ण
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Bordeaux mixture/ बॗड८क् ऺ  ोम঒ण

Burgundy mixture/बग१न् डॎ ोम঒ण

Chaubattia paste/चऊबोĀयॊ ोम঒ण

All of the above / उपरख़क् त ऺभॎ

Correct Answer :­All of the above / उपरख़क् त ऺभॎ 

87)

Question Stimulus :­

First dithio carbonate fungicide, discovered by Tisdale (1934), was;­/
ोतऺडॕल (1934) कॕ ကॊरॊ ঋथम डॊईथॊयख़ कॊबॳनॕट कशकनॊषॎ कॎ खख़ज कॎ गई जख़ ऻॖ:­

Maneb/मोनब

Thiram/थॊईरम

Zeram/जॎरम

Zineb/जॎनॕब

Correct Answer :­Thiram/थॊईरम 

88)

Question Stimulus :­

Inorganic mercury compounds used to eradicate plant pathogens are:­/ पॊदक
रख़गॊणॏओॠ कॕ उनमॐलन कॕ ोलए उपयख़ग ऻख़नॕ शॊलॕ अकॊब१ोनक पॊरॊ यग़ोगक ऻ॰:­

HgCl2

Hg2cl2

C2H5Hgcl2

both HgCl2 & Hg2cl2

Correct Answer :­both HgCl2 & Hg2cl2 

89)
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Question Stimulus :­

Foliar application of this fungicide is a waste as it decompose in light, the
fungicide is:­/ ऐऺॎ कशकनॊषॎ ोजऺकॊ पोĀयख़ ॠ पर उपयख़ग अपश् यय ऻॖ, चॐॠोक यऻ ঋकॊष म७ अपघोटत ऻख़
जॊतॊ ऻॖ, यऻ कशकनॊषॎ ऻॖ­

Chloranil/क् लख़रॊोनल

Dichlone/ डॊईक् लख़न

Dinocap/ोडनख़कॕप

Dichloran/डॊईक् लख़रॕन

Correct Answer :­Chloranil/क् लख़रॊोनल 

90)

Question Stimulus :­

IUPAC name of dinocap is:­/डॊईनख़कॕप कॊ IUPAC नॊम ऻॖ:­

2, 6­dichloro­4­nitroaniline/2, 6­डॊईक् लख़रख़­4­नॊईट३ ख़एोनलॎन

2­(1­methyl hepthyl)­4­6/ 2­(1­ोमथॊईल ऻॕप् टॊईल)­4­6

Tetrachloro­isophthalonitril / टॕट३ ॊक् लख़रख़–आइऺख़फथॕलख़नॊईोट३ ल

2­heptadecyl glyoxalidine/2­ऻॕप् टॊडॕऺॊईल ग् लॊईओक् ऺ ॊोलोडन

Correct Answer :­2­(1­methyl hepthyl)­4­6/ 2­(1­ोमथॊईल ऻॕप् टॊईल)­4­6 

91)

Question Stimulus :­

Which of the following fungicide is not a sterol biosynthesis Inhibitors (SI)?/ोनम् न
म७ ऺॕ कग़न कशकनॊषॎ एक ऺ् टॎरख़ल जॖश ॠऺष् लॕहण अशरख़धॎ नऻॎ ॠ ऻॖ?

Ethirimol/ऐोथौरमॗल

Triforine/ट३ ॊईफख़ौरन

Thiophanate /थॊयख़फॕनॕट

Triazoles/ट३ ॊईऐजख़ल् ऺ
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Correct Answer :­Thiophanate /थॊयख़फॕनॕट 

92)

Question Stimulus :­

Resistance based on genes taken from the genome of virus pathogen and
engineered into the host is known as:­/एक ঋकॊर कॊ ঋोतरख़ध ोजऺम७ ोशहॊणॏ कॕ जॎनख़म ऺॕ जॎन
ोनकॊलकर पख़हण म७ अोभयॠআण कर ोदयॊ जॊतॊ ऻॖ, कऻलॊतॊ ऻॖ:­

Pathogen derived Resistance/रख़गॊणॏ श् यॏत् पन् न ঋोतरख़ध

Horizontal resistance/ ऺमॊॠतर ঋोतरख़ध

Sytemic Acquired Resistance (SAR) /दॖोऻक उपॊोज१त ঋोतरख़ध (ऺॊर)

None of the above/ ोनĀ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Pathogen derived Resistance/रख़गॊणॏ श् यॏत् पन् न ঋोतरख़ध 

93)

Question Stimulus :­

In Integrated Disease Management (IDM) of tomato, the seeds should be
treated with ______ to prevent fungal infection?/ रख़ग ঋबॠधन (IDM) ऻॕतॏ बॎजख़ ॠ
कख़ ______  ऺॕ उपचॊौरत करकॕ कशक रख़गॊणॏओॠ ऺॕ बचॊश ोकयॊ जॊतॊ ऻॖ।

Trichoderma (1%) + Imidacloprid (2.5 gm/kg seed)/ट३ ॊईकख़डरमॊ
(1%) + इोमडॊक् लख़ोঋड (2.5 gm/ ोकलख़ बॎज)

NPV

Endosulfan (1.5 ml/litre) /इन् डख़ऺल् फॊन (1.5 ोमलॎ/लॎ)

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­Trichoderma (1%) + Imidacloprid (2.5 gm/kg seed)/
ट३ ॊईकख़डरमॊ (1%) + इोमडॊक् लख़ोঋड (2.5 gm/ ोकलख़ बॎज) 

94)

Question Stimulus :­

Use of biolistics for gene transfer is a:­/बॊयख़ोलĀॕक कॎ मदद ऺॕ जॎन ऺ् थॊनॊॠतरण ऻॖ:­
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Direct method of gene transfer/जॎन ऺ् थॊनॊॠतरण कॎ ঋत् य঴ ोशोध

Indirect method of gene transfer/ जॎन ऺ् थॊनॊॠतरण कॎ अঋत् य঴ ोशोध

Employs virus for gene transfer/ोशहॊणॏ कॕ उपयख़ग ऺॕ जॎन ऺ् थॊनॊॠतरण

Accurate method with 99% result/अचॐक ोशोध ोजऺम७ 99% पौरणॊम
ोमलतॊ ऻॖ

Correct Answer :­Direct method of gene transfer/जॎन ऺ् थॊनॊॠतरण कॎ ঋत् य঴ ोशोध 

95)

Question Stimulus :­

In biophysical method, the presence of virus in seeds can be detected indirectly
by:­/जॖश भग़ोतक ोशोध म७, बॎजख़ ॠ म७ उप्Āथत ोशहॊणॏओॠ कख़ अঋत् य঴ ॹप ऺॕ जॊँचॊ जॊतॊ ऻॖ:­

Electron microscopy/ईक् ट३ ख़न मॊइॿख़ऺ् कख़पॎ ကॊरॊ

Soft x­ rays / नरम x­ ोकरणख़ ॠ ကॊरॊ

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Soft x­ rays / नरम x­ ोकरणख़ ॠ ကॊरॊ 

96)

Question Stimulus :­

Which of the following is non PCR based monocular marker?/ ोनम् न म७ ऺॕ कग़न­ऺॊ गॖर
पॎ.ऺॎ.आर. आधॊौरत आ्Āक ोचन् ऻक ऻॖ?

SSRP

AFLP

RFLP

RAPD

Correct Answer :­RFLP 

97)
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Question Stimulus :­

Hessian fly resistance gene (H21) is inserted in wheat with the help of?/
ऻॖोऺयन मक् खॎ रख़धॎ जॎन (H21) ग७ॾ म७ ोकऺ कॎ मदद ऺॕ ঋोशह् ट ोकयॊ गयॊ?

RFLP

RAPD

SSRP

All the above/उपरख़ঢ ऺभॎ

Correct Answer :­RAPD 

98)

Question Stimulus :­

Example of sequence tagged sites is:­/ॿम ोच्Āत मॊक१ र कॊ उदॊऻरण ऻॖ ­

STM

SCARs

CAPS

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­All of above/ उपरख़क् त ऺभॎ 

99)

Question Stimulus :­

Durability of resistance (against pathogens) in plants has been increased by?/
पग़धख़ ॠ म७ रख़गॊणॏओॠ कॕ ঋोत, ঋोतरख़ोध ঴मतॊ कॎ ्Āथरतॊ, बुॊई जॊ ऺकतॎ ऻॖ ­

Developing multi lines variety/ बॽरॕ्खत ोकऺ् मख़ ॠ कख़ ोशकोऺत करकॕ

Gene pyramiding/जॎन ोपरॊोमोडॠग

Both the above / उपरख़ঢ दख़नख़ ॠ

None of the above/ उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both the above / उपरख़ঢ दख़नख़ ॠ 
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100)

Question Stimulus :­

Which of the following is scoreable marker gene?/ोनम् न म७ ऺॕ कग़न­ऺॊ Āख़रॕबल ोचĀक
जॎन ऻॖ?

ocs,nos

UidA

Lux A, Lux B

All of above/ उपरख़क् त ऺभॎ

Correct Answer :­All of above/ उपरख़क् त ऺभॎ 
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